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Tasks often formalised as MDP

States:  x 2 Rn

x
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Both tasks formalised as reinforcement learning 
problems

Actions:

States:  x 2 Rn

x u
<latexit sha1_base64="B3LiXHMRvJQuqBd3i4MG0hzi7Bw=">AAAB8XicbVBNS8NAEJ3Urxq/oh69LBbBU0kU0YtY9OKxgv3ANpTNdtMu3WzC7kYoof/CiwdF9OgP8e5F/Ddu2h609cHA470Z5s0ECWdKu+63VVhYXFpeKa7aa+sbm1vO9k5dxakktEZiHstmgBXlTNCaZprTZiIpjgJOG8HgKvcb91QqFotbPUyoH+GeYCEjWBvprh1h3Q/CLB11nJJbdsdA88SbktLFh32evH3Z1Y7z2e7GJI2o0IRjpVqem2g/w1IzwunIbqeKJpgMcI+2DBU4osrPxolH6MAoXRTG0pTQaKz+nshwpNQwCkxnnlDNern4n9dKdXjmZ0wkqaaCTBaFKUc6Rvn5qMskJZoPDcFEMpMVkT6WmGjzJNs8wZs9eZ7Uj8recfnkxi1VLmGCIuzBPhyCB6dQgWuoQg0ICHiAJ3i2lPVovVivk9aCNZ3ZhT+w3n8AWoSUXQ==</latexit>

u 2 Rm
<latexit sha1_base64="YID+TlDO3aB1CXFdMHQ6Vq1e96I=">AAACA3icbVC7TsMwFHV4lvIKsMFiUSExVQkIwUYFC2NB9CE1oXJcp7VqO5HtIFVRJBZ+hYUBhFj5CTY+hQ0n7QAtR7J0fM69uveeIGZUacf5submFxaXlksr5dW19Y1Ne2u7qaJEYtLAEYtkO0CKMCpIQ1PNSDuWBPGAkVYwvMz91j2RikbiVo9i4nPUFzSkGGkjde1djyM9CMI0yTwqig9GLL3J7njXrjhVpwCcJe6EVM6/wwL1rv3p9SKccCI0ZkipjuvE2k+R1BQzkpW9RJEY4SHqk46hAnGi/LS4IYMHRunBMJLmCQ0L9XdHirhSIx6YynxJNe3l4n9eJ9HhmZ9SESeaCDweFCYM6gjmgcAelQRrNjIEYUnNrhAPkERYm9jKJgR3+uRZ0jyqusfVk2unUrsAY5TAHtgHh8AFp6AGrkAdNAAGD+AJvIBX69F6tt6s93HpnDXp2QF/YH38AOs5nAc=</latexit>
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Both tasks formalised as reinforcement learning 
problems

Actions:

States:  x 2 Rn

Model:

x
x0

x00

u
<latexit sha1_base64="B3LiXHMRvJQuqBd3i4MG0hzi7Bw=">AAAB8XicbVBNS8NAEJ3Urxq/oh69LBbBU0kU0YtY9OKxgv3ANpTNdtMu3WzC7kYoof/CiwdF9OgP8e5F/Ddu2h609cHA470Z5s0ECWdKu+63VVhYXFpeKa7aa+sbm1vO9k5dxakktEZiHstmgBXlTNCaZprTZiIpjgJOG8HgKvcb91QqFotbPUyoH+GeYCEjWBvprh1h3Q/CLB11nJJbdsdA88SbktLFh32evH3Z1Y7z2e7GJI2o0IRjpVqem2g/w1IzwunIbqeKJpgMcI+2DBU4osrPxolH6MAoXRTG0pTQaKz+nshwpNQwCkxnnlDNern4n9dKdXjmZ0wkqaaCTBaFKUc6Rvn5qMskJZoPDcFEMpMVkT6WmGjzJNs8wZs9eZ7Uj8recfnkxi1VLmGCIuzBPhyCB6dQgWuoQg0ICHiAJ3i2lPVovVivk9aCNZ3ZhT+w3n8AWoSUXQ==</latexit>

u 2 Rm
<latexit sha1_base64="YID+TlDO3aB1CXFdMHQ6Vq1e96I=">AAACA3icbVC7TsMwFHV4lvIKsMFiUSExVQkIwUYFC2NB9CE1oXJcp7VqO5HtIFVRJBZ+hYUBhFj5CTY+hQ0n7QAtR7J0fM69uveeIGZUacf5submFxaXlksr5dW19Y1Ne2u7qaJEYtLAEYtkO0CKMCpIQ1PNSDuWBPGAkVYwvMz91j2RikbiVo9i4nPUFzSkGGkjde1djyM9CMI0yTwqig9GLL3J7njXrjhVpwCcJe6EVM6/wwL1rv3p9SKccCI0ZkipjuvE2k+R1BQzkpW9RJEY4SHqk46hAnGi/LS4IYMHRunBMJLmCQ0L9XdHirhSIx6YynxJNe3l4n9eJ9HhmZ9SESeaCDweFCYM6gjmgcAelQRrNjIEYUnNrhAPkERYm9jKJgR3+uRZ0jyqusfVk2unUrsAY5TAHtgHh8AFp6AGrkAdNAAGD+AJvIBX69F6tt6s93HpnDXp2QF/YH38AOs5nAc=</latexit>

p(x0|x,u)
<latexit sha1_base64="JTPO5/3htPY/TLOM7GHUjJFwLsI=">AAACF3icbZDLSsNAFIYn9VbrLerSzdAiVJSSKKLLohuXFewFmlgm00k7dHJhZiKGmLfoxldx40IRt7rr2zhpi5fWHwY+/nMOc87vhIwKaRgjLbewuLS8kl8trK1vbG7p2zsNEUQckzoOWMBbDhKEUZ/UJZWMtEJOkOcw0nQGl1m9eUe4oIF/I+OQ2B7q+dSlGElldfRKWLY8JPuOm9ynt1bIqUfgA/zxjr45SuFBRy8ZFWMsOA/mFErVonU4HFXjWkf/tLoBjjziS8yQEG3TCKWdIC4pZiQtWJEgIcID1CNthT7yiLCT8V0p3FdOF7oBV8+XcOz+nkiQJ0TsOaoz21HM1jLzv1o7ku65nVA/jCTx8eQjN2JQBjALCXYpJ1iyWAHCnKpdIe4jjrBUURZUCObsyfPQOK6YJ5XTa5XGBZgoD/ZAEZSBCc5AFVyBGqgDDIbgCbyAV+1Re9betPdJa06bzuyCP9I+vgBXa6MA</latexit>
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Both tasks formalised as reinforcement learning 
problems

Actions:

States:  x 2 Rn

Model:

Rewards:

x
x0

x00

p(x0|x,u)
<latexit sha1_base64="JTPO5/3htPY/TLOM7GHUjJFwLsI=">AAACF3icbZDLSsNAFIYn9VbrLerSzdAiVJSSKKLLohuXFewFmlgm00k7dHJhZiKGmLfoxldx40IRt7rr2zhpi5fWHwY+/nMOc87vhIwKaRgjLbewuLS8kl8trK1vbG7p2zsNEUQckzoOWMBbDhKEUZ/UJZWMtEJOkOcw0nQGl1m9eUe4oIF/I+OQ2B7q+dSlGElldfRKWLY8JPuOm9ynt1bIqUfgA/zxjr45SuFBRy8ZFWMsOA/mFErVonU4HFXjWkf/tLoBjjziS8yQEG3TCKWdIC4pZiQtWJEgIcID1CNthT7yiLCT8V0p3FdOF7oBV8+XcOz+nkiQJ0TsOaoz21HM1jLzv1o7ku65nVA/jCTx8eQjN2JQBjALCXYpJ1iyWAHCnKpdIe4jjrBUURZUCObsyfPQOK6YJ5XTa5XGBZgoD/ZAEZSBCc5AFVyBGqgDDIbgCbyAV+1Re9betPdJa06bzuyCP9I+vgBXa6MA</latexit>

r(x,u,x0) 2 R
<latexit sha1_base64="tz8ggpzjECa6RQ8e6hza2qwx90w="></latexit>

u
<latexit sha1_base64="B3LiXHMRvJQuqBd3i4MG0hzi7Bw=">AAAB8XicbVBNS8NAEJ3Urxq/oh69LBbBU0kU0YtY9OKxgv3ANpTNdtMu3WzC7kYoof/CiwdF9OgP8e5F/Ddu2h609cHA470Z5s0ECWdKu+63VVhYXFpeKa7aa+sbm1vO9k5dxakktEZiHstmgBXlTNCaZprTZiIpjgJOG8HgKvcb91QqFotbPUyoH+GeYCEjWBvprh1h3Q/CLB11nJJbdsdA88SbktLFh32evH3Z1Y7z2e7GJI2o0IRjpVqem2g/w1IzwunIbqeKJpgMcI+2DBU4osrPxolH6MAoXRTG0pTQaKz+nshwpNQwCkxnnlDNern4n9dKdXjmZ0wkqaaCTBaFKUc6Rvn5qMskJZoPDcFEMpMVkT6WmGjzJNs8wZs9eZ7Uj8recfnkxi1VLmGCIuzBPhyCB6dQgWuoQg0ICHiAJ3i2lPVovVivk9aCNZ3ZhT+w3n8AWoSUXQ==</latexit>

u 2 Rm
<latexit sha1_base64="YID+TlDO3aB1CXFdMHQ6Vq1e96I=">AAACA3icbVC7TsMwFHV4lvIKsMFiUSExVQkIwUYFC2NB9CE1oXJcp7VqO5HtIFVRJBZ+hYUBhFj5CTY+hQ0n7QAtR7J0fM69uveeIGZUacf5submFxaXlksr5dW19Y1Ne2u7qaJEYtLAEYtkO0CKMCpIQ1PNSDuWBPGAkVYwvMz91j2RikbiVo9i4nPUFzSkGGkjde1djyM9CMI0yTwqig9GLL3J7njXrjhVpwCcJe6EVM6/wwL1rv3p9SKccCI0ZkipjuvE2k+R1BQzkpW9RJEY4SHqk46hAnGi/LS4IYMHRunBMJLmCQ0L9XdHirhSIx6YynxJNe3l4n9eJ9HhmZ9SESeaCDweFCYM6gjmgcAelQRrNjIEYUnNrhAPkERYm9jKJgR3+uRZ0jyqusfVk2unUrsAY5TAHtgHh8AFp6AGrkAdNAAGD+AJvIBX69F6tt6s93HpnDXp2QF/YH38AOs5nAc=</latexit>
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Both tasks formalised as reinforcement learning 
problems

Actions:

States:  x 2 Rn

Model:

Rewards:

Policy:

x
x0

x00

a0

u 2 Rm
<latexit sha1_base64="YID+TlDO3aB1CXFdMHQ6Vq1e96I=">AAACA3icbVC7TsMwFHV4lvIKsMFiUSExVQkIwUYFC2NB9CE1oXJcp7VqO5HtIFVRJBZ+hYUBhFj5CTY+hQ0n7QAtR7J0fM69uveeIGZUacf5submFxaXlksr5dW19Y1Ne2u7qaJEYtLAEYtkO0CKMCpIQ1PNSDuWBPGAkVYwvMz91j2RikbiVo9i4nPUFzSkGGkjde1djyM9CMI0yTwqig9GLL3J7njXrjhVpwCcJe6EVM6/wwL1rv3p9SKccCI0ZkipjuvE2k+R1BQzkpW9RJEY4SHqk46hAnGi/LS4IYMHRunBMJLmCQ0L9XdHirhSIx6YynxJNe3l4n9eJ9HhmZ9SESeaCDweFCYM6gjmgcAelQRrNjIEYUnNrhAPkERYm9jKJgR3+uRZ0jyqusfVk2unUrsAY5TAHtgHh8AFp6AGrkAdNAAGD+AJvIBX69F6tt6s93HpnDXp2QF/YH38AOs5nAc=</latexit>

u
<latexit sha1_base64="B3LiXHMRvJQuqBd3i4MG0hzi7Bw=">AAAB8XicbVBNS8NAEJ3Urxq/oh69LBbBU0kU0YtY9OKxgv3ANpTNdtMu3WzC7kYoof/CiwdF9OgP8e5F/Ddu2h609cHA470Z5s0ECWdKu+63VVhYXFpeKa7aa+sbm1vO9k5dxakktEZiHstmgBXlTNCaZprTZiIpjgJOG8HgKvcb91QqFotbPUyoH+GeYCEjWBvprh1h3Q/CLB11nJJbdsdA88SbktLFh32evH3Z1Y7z2e7GJI2o0IRjpVqem2g/w1IzwunIbqeKJpgMcI+2DBU4osrPxolH6MAoXRTG0pTQaKz+nshwpNQwCkxnnlDNern4n9dKdXjmZ0wkqaaCTBaFKUc6Rvn5qMskJZoPDcFEMpMVkT6WmGjzJNs8wZs9eZ7Uj8recfnkxi1VLmGCIuzBPhyCB6dQgWuoQg0ICHiAJ3i2lPVovVivk9aCNZ3ZhT+w3n8AWoSUXQ==</latexit>

p(x0|x,u)
<latexit sha1_base64="JTPO5/3htPY/TLOM7GHUjJFwLsI=">AAACF3icbZDLSsNAFIYn9VbrLerSzdAiVJSSKKLLohuXFewFmlgm00k7dHJhZiKGmLfoxldx40IRt7rr2zhpi5fWHwY+/nMOc87vhIwKaRgjLbewuLS8kl8trK1vbG7p2zsNEUQckzoOWMBbDhKEUZ/UJZWMtEJOkOcw0nQGl1m9eUe4oIF/I+OQ2B7q+dSlGElldfRKWLY8JPuOm9ynt1bIqUfgA/zxjr45SuFBRy8ZFWMsOA/mFErVonU4HFXjWkf/tLoBjjziS8yQEG3TCKWdIC4pZiQtWJEgIcID1CNthT7yiLCT8V0p3FdOF7oBV8+XcOz+nkiQJ0TsOaoz21HM1jLzv1o7ku65nVA/jCTx8eQjN2JQBjALCXYpJ1iyWAHCnKpdIe4jjrBUURZUCObsyfPQOK6YJ5XTa5XGBZgoD/ZAEZSBCc5AFVyBGqgDDIbgCbyAV+1Re9betPdJa06bzuyCP9I+vgBXa6MA</latexit>

r(x,u,x0) 2 R
<latexit sha1_base64="tz8ggpzjECa6RQ8e6hza2qwx90w="></latexit>

⇡(u|x)
<latexit sha1_base64="cMnp7cff0sy3jF6fla7rpBNv7wE=">AAACA3icbZDLSsNAFIYn9VbrLepON0OLUBFKoogui25cVrAXaEKZTCft0MkkzEzEEAtufAOfwY0LRdz6Eu76Nk7aCtr6w8DHf85hzvm9iFGpLGtk5BYWl5ZX8quFtfWNzS1ze6chw1hgUschC0XLQ5IwykldUcVIKxIEBR4jTW9wmdWbt0RIGvIblUTEDVCPU59ipLTVMfeciJadAKm+56fx8P4H74aHHbNkVayx4DzYUyhVi87R06ia1Drml9MNcRwQrjBDUrZtK1JuioSimJFhwYkliRAeoB5pa+QoINJNxzcM4YF2utAPhX5cwbH7eyJFgZRJ4OnObEU5W8vM/2rtWPnnbkp5FCvC8eQjP2ZQhTALBHapIFixRAPCgupdIe4jgbDSsRV0CPbsyfPQOK7YJ5XTa53GBZgoD/ZBEZSBDc5AFVyBGqgDDB7AM3gFb8aj8WK8Gx+T1pwxndkFf2R8fgPHmJs8</latexit>
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Both tasks formalised as reinforcement learning 
problems

Actions:

States:  x 2 Rn

Model:

Rewards:

Policy:

Goal: ⇡⇤ = argmax
⇡

J⇡ J⇡ = E

"
TX

t=0

rt

#
(e.g.                          )

x
x0

x00

a0

u 2 Rm
<latexit sha1_base64="YID+TlDO3aB1CXFdMHQ6Vq1e96I=">AAACA3icbVC7TsMwFHV4lvIKsMFiUSExVQkIwUYFC2NB9CE1oXJcp7VqO5HtIFVRJBZ+hYUBhFj5CTY+hQ0n7QAtR7J0fM69uveeIGZUacf5submFxaXlksr5dW19Y1Ne2u7qaJEYtLAEYtkO0CKMCpIQ1PNSDuWBPGAkVYwvMz91j2RikbiVo9i4nPUFzSkGGkjde1djyM9CMI0yTwqig9GLL3J7njXrjhVpwCcJe6EVM6/wwL1rv3p9SKccCI0ZkipjuvE2k+R1BQzkpW9RJEY4SHqk46hAnGi/LS4IYMHRunBMJLmCQ0L9XdHirhSIx6YynxJNe3l4n9eJ9HhmZ9SESeaCDweFCYM6gjmgcAelQRrNjIEYUnNrhAPkERYm9jKJgR3+uRZ0jyqusfVk2unUrsAY5TAHtgHh8AFp6AGrkAdNAAGD+AJvIBX69F6tt6s93HpnDXp2QF/YH38AOs5nAc=</latexit>

u
<latexit sha1_base64="B3LiXHMRvJQuqBd3i4MG0hzi7Bw=">AAAB8XicbVBNS8NAEJ3Urxq/oh69LBbBU0kU0YtY9OKxgv3ANpTNdtMu3WzC7kYoof/CiwdF9OgP8e5F/Ddu2h609cHA470Z5s0ECWdKu+63VVhYXFpeKa7aa+sbm1vO9k5dxakktEZiHstmgBXlTNCaZprTZiIpjgJOG8HgKvcb91QqFotbPUyoH+GeYCEjWBvprh1h3Q/CLB11nJJbdsdA88SbktLFh32evH3Z1Y7z2e7GJI2o0IRjpVqem2g/w1IzwunIbqeKJpgMcI+2DBU4osrPxolH6MAoXRTG0pTQaKz+nshwpNQwCkxnnlDNern4n9dKdXjmZ0wkqaaCTBaFKUc6Rvn5qMskJZoPDcFEMpMVkT6WmGjzJNs8wZs9eZ7Uj8recfnkxi1VLmGCIuzBPhyCB6dQgWuoQg0ICHiAJ3i2lPVovVivk9aCNZ3ZhT+w3n8AWoSUXQ==</latexit>

p(x0|x,u)
<latexit sha1_base64="JTPO5/3htPY/TLOM7GHUjJFwLsI=">AAACF3icbZDLSsNAFIYn9VbrLerSzdAiVJSSKKLLohuXFewFmlgm00k7dHJhZiKGmLfoxldx40IRt7rr2zhpi5fWHwY+/nMOc87vhIwKaRgjLbewuLS8kl8trK1vbG7p2zsNEUQckzoOWMBbDhKEUZ/UJZWMtEJOkOcw0nQGl1m9eUe4oIF/I+OQ2B7q+dSlGElldfRKWLY8JPuOm9ynt1bIqUfgA/zxjr45SuFBRy8ZFWMsOA/mFErVonU4HFXjWkf/tLoBjjziS8yQEG3TCKWdIC4pZiQtWJEgIcID1CNthT7yiLCT8V0p3FdOF7oBV8+XcOz+nkiQJ0TsOaoz21HM1jLzv1o7ku65nVA/jCTx8eQjN2JQBjALCXYpJ1iyWAHCnKpdIe4jjrBUURZUCObsyfPQOK6YJ5XTa5XGBZgoD/ZAEZSBCc5AFVyBGqgDDIbgCbyAV+1Re9betPdJa06bzuyCP9I+vgBXa6MA</latexit>

r(x,u,x0) 2 R
<latexit sha1_base64="tz8ggpzjECa6RQ8e6hza2qwx90w="></latexit>

⇡(u|x)
<latexit sha1_base64="cMnp7cff0sy3jF6fla7rpBNv7wE=">AAACA3icbZDLSsNAFIYn9VbrLepON0OLUBFKoogui25cVrAXaEKZTCft0MkkzEzEEAtufAOfwY0LRdz6Eu76Nk7aCtr6w8DHf85hzvm9iFGpLGtk5BYWl5ZX8quFtfWNzS1ze6chw1hgUschC0XLQ5IwykldUcVIKxIEBR4jTW9wmdWbt0RIGvIblUTEDVCPU59ipLTVMfeciJadAKm+56fx8P4H74aHHbNkVayx4DzYUyhVi87R06ia1Drml9MNcRwQrjBDUrZtK1JuioSimJFhwYkliRAeoB5pa+QoINJNxzcM4YF2utAPhX5cwbH7eyJFgZRJ4OnObEU5W8vM/2rtWPnnbkp5FCvC8eQjP2ZQhTALBHapIFixRAPCgupdIe4jgbDSsRV0CPbsyfPQOK7YJ5XTa53GBZgoD/ZBEZSBDc5AFVyBGqgDDB7AM3gFb8aj8WK8Gx+T1pwxndkFf2R8fgPHmJs8</latexit>
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Challenges in real tasks

incomplete, noisy

continuous high-dimensional

hard to engineer

Actions:

States:  x 2 Rn

Model:

Rewards:

Policy:

Goal: ⇡⇤ = argmax
⇡

J⇡ J⇡ = E

"
TX

t=0

rt

#
(e.g.                          )

execution endanger the robot

inaccurate model

u 2 Rm
<latexit sha1_base64="YID+TlDO3aB1CXFdMHQ6Vq1e96I=">AAACA3icbVC7TsMwFHV4lvIKsMFiUSExVQkIwUYFC2NB9CE1oXJcp7VqO5HtIFVRJBZ+hYUBhFj5CTY+hQ0n7QAtR7J0fM69uveeIGZUacf5submFxaXlksr5dW19Y1Ne2u7qaJEYtLAEYtkO0CKMCpIQ1PNSDuWBPGAkVYwvMz91j2RikbiVo9i4nPUFzSkGGkjde1djyM9CMI0yTwqig9GLL3J7njXrjhVpwCcJe6EVM6/wwL1rv3p9SKccCI0ZkipjuvE2k+R1BQzkpW9RJEY4SHqk46hAnGi/LS4IYMHRunBMJLmCQ0L9XdHirhSIx6YynxJNe3l4n9eJ9HhmZ9SESeaCDweFCYM6gjmgcAelQRrNjIEYUnNrhAPkERYm9jKJgR3+uRZ0jyqusfVk2unUrsAY5TAHtgHh8AFp6AGrkAdNAAGD+AJvIBX69F6tt6s93HpnDXp2QF/YH38AOs5nAc=</latexit>

p(x0|x,u)
<latexit sha1_base64="JTPO5/3htPY/TLOM7GHUjJFwLsI=">AAACF3icbZDLSsNAFIYn9VbrLerSzdAiVJSSKKLLohuXFewFmlgm00k7dHJhZiKGmLfoxldx40IRt7rr2zhpi5fWHwY+/nMOc87vhIwKaRgjLbewuLS8kl8trK1vbG7p2zsNEUQckzoOWMBbDhKEUZ/UJZWMtEJOkOcw0nQGl1m9eUe4oIF/I+OQ2B7q+dSlGElldfRKWLY8JPuOm9ynt1bIqUfgA/zxjr45SuFBRy8ZFWMsOA/mFErVonU4HFXjWkf/tLoBjjziS8yQEG3TCKWdIC4pZiQtWJEgIcID1CNthT7yiLCT8V0p3FdOF7oBV8+XcOz+nkiQJ0TsOaoz21HM1jLzv1o7ku65nVA/jCTx8eQjN2JQBjALCXYpJ1iyWAHCnKpdIe4jjrBUURZUCObsyfPQOK6YJ5XTa5XGBZgoD/ZAEZSBCc5AFVyBGqgDDIbgCbyAV+1Re9betPdJa06bzuyCP9I+vgBXa6MA</latexit>

r(x,u,x0) 2 R
<latexit sha1_base64="tz8ggpzjECa6RQ8e6hza2qwx90w="></latexit>

⇡(u|x)
<latexit sha1_base64="cMnp7cff0sy3jF6fla7rpBNv7wE=">AAACA3icbZDLSsNAFIYn9VbrLepON0OLUBFKoogui25cVrAXaEKZTCft0MkkzEzEEAtufAOfwY0LRdz6Eu76Nk7aCtr6w8DHf85hzvm9iFGpLGtk5BYWl5ZX8quFtfWNzS1ze6chw1hgUschC0XLQ5IwykldUcVIKxIEBR4jTW9wmdWbt0RIGvIblUTEDVCPU59ipLTVMfeciJadAKm+56fx8P4H74aHHbNkVayx4DzYUyhVi87R06ia1Drml9MNcRwQrjBDUrZtK1JuioSimJFhwYkliRAeoB5pa+QoINJNxzcM4YF2utAPhX5cwbH7eyJFgZRJ4OnObEU5W8vM/2rtWPnnbkp5FCvC8eQjP2ZQhTALBHapIFixRAPCgupdIe4jgbDSsRV0CPbsyfPQOK7YJ5XTa53GBZgoD/ZBEZSBDc5AFVyBGqgDDB7AM3gFb8aj8WK8Gx+T1pwxndkFf2R8fgPHmJs8</latexit>
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Challenges in real tasks

• Can I learn something without the model  
just from interactions?

p(x0|x,u)
<latexit sha1_base64="JTPO5/3htPY/TLOM7GHUjJFwLsI=">AAACF3icbZDLSsNAFIYn9VbrLerSzdAiVJSSKKLLohuXFewFmlgm00k7dHJhZiKGmLfoxldx40IRt7rr2zhpi5fWHwY+/nMOc87vhIwKaRgjLbewuLS8kl8trK1vbG7p2zsNEUQckzoOWMBbDhKEUZ/UJZWMtEJOkOcw0nQGl1m9eUe4oIF/I+OQ2B7q+dSlGElldfRKWLY8JPuOm9ynt1bIqUfgA/zxjr45SuFBRy8ZFWMsOA/mFErVonU4HFXjWkf/tLoBjjziS8yQEG3TCKWdIC4pZiQtWJEgIcID1CNthT7yiLCT8V0p3FdOF7oBV8+XcOz+nkiQJ0TsOaoz21HM1jLzv1o7ku65nVA/jCTx8eQjN2JQBjALCXYpJ1iyWAHCnKpdIe4jjrBUURZUCObsyfPQOK6YJ5XTa5XGBZgoD/ZAEZSBCc5AFVyBGqgDDIbgCbyAV+1Re9betPdJa06bzuyCP9I+vgBXa6MA</latexit>
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Taxonomy of policy search methods

• Direct policy search (primal task) 
⇡⇤ = argmax

⇡
J⇡e.g. gradient ascent for

⇡⇤ = argmax
a

Q(x,a)

e.g. search for Q(x,a) = r(x,a,x0) + �max
a0

Q(x0,a0)

• Value-based methods (dual function [Kober, 2013])

Episodic REPS [Peters, 2010]
PILCO [Deisenroth, ICML 2011]
Actor-critic (e.g. DPG [Silver,JMLR 2014])

Deep Q-learning (e.g. [Mnih,Nature 2015])gr
ey
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Value-based methods: Q-learning

States

a b c

d e
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Value-based methods: Q-learning

Actions R-right

D-down
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Value-based methods: Q-learning

Rewards
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a b c

d e

Q(x,u) : X ⇥ U ! R
<latexit sha1_base64="SiBp39dZ493ZD4/1ILNjR43WPW4=">AAACIXicbVBNS8NAEN34WetX1aOXxSJUkJKIYPFU9OKxFdMWmlI22027dPPB7kQtIX/Fi3/FiwdFehP/jNs2grY+GHi8N8PMPDcSXIFpfhpLyyura+u5jfzm1vbObmFvv6HCWFJm01CEsuUSxQQPmA0cBGtFkhHfFazpDq8nfvOeScXD4A5GEev4pB9wj1MCWuoWKvWS4xMYuF7ymJ7+0Dg9uWw5wH2msO1I3h8AkTJ8wLMGN7lNu4WiWTanwIvEykgRZah1C2OnF9LYZwFQQZRqW2YEnYRI4FSwNO/EikWEDkmftTUNiF7eSaYfpvhYKz3shVJXAHiq/p5IiK/UyHd15+RCNe9NxP+8dgxepZPwIIqBBXS2yIsFhhBP4sI9LhkFMdKEUMn1rZgOiCQUdKh5HYI1//IiaZyVLbNs1c+L1assjhw6REeohCx0garoBtWQjSh6Qi/oDb0bz8ar8WGMZ61LRjZzgP7A+PoGwYukgA==</latexit><latexit sha1_base64="SiBp39dZ493ZD4/1ILNjR43WPW4=">AAACIXicbVBNS8NAEN34WetX1aOXxSJUkJKIYPFU9OKxFdMWmlI22027dPPB7kQtIX/Fi3/FiwdFehP/jNs2grY+GHi8N8PMPDcSXIFpfhpLyyura+u5jfzm1vbObmFvv6HCWFJm01CEsuUSxQQPmA0cBGtFkhHfFazpDq8nfvOeScXD4A5GEev4pB9wj1MCWuoWKvWS4xMYuF7ymJ7+0Dg9uWw5wH2msO1I3h8AkTJ8wLMGN7lNu4WiWTanwIvEykgRZah1C2OnF9LYZwFQQZRqW2YEnYRI4FSwNO/EikWEDkmftTUNiF7eSaYfpvhYKz3shVJXAHiq/p5IiK/UyHd15+RCNe9NxP+8dgxepZPwIIqBBXS2yIsFhhBP4sI9LhkFMdKEUMn1rZgOiCQUdKh5HYI1//IiaZyVLbNs1c+L1assjhw6REeohCx0garoBtWQjSh6Qi/oDb0bz8ar8WGMZ61LRjZzgP7A+PoGwYukgA==</latexit><latexit sha1_base64="SiBp39dZ493ZD4/1ILNjR43WPW4=">AAACIXicbVBNS8NAEN34WetX1aOXxSJUkJKIYPFU9OKxFdMWmlI22027dPPB7kQtIX/Fi3/FiwdFehP/jNs2grY+GHi8N8PMPDcSXIFpfhpLyyura+u5jfzm1vbObmFvv6HCWFJm01CEsuUSxQQPmA0cBGtFkhHfFazpDq8nfvOeScXD4A5GEev4pB9wj1MCWuoWKvWS4xMYuF7ymJ7+0Dg9uWw5wH2msO1I3h8AkTJ8wLMGN7lNu4WiWTanwIvEykgRZah1C2OnF9LYZwFQQZRqW2YEnYRI4FSwNO/EikWEDkmftTUNiF7eSaYfpvhYKz3shVJXAHiq/p5IiK/UyHd15+RCNe9NxP+8dgxepZPwIIqBBXS2yIsFhhBP4sI9LhkFMdKEUMn1rZgOiCQUdKh5HYI1//IiaZyVLbNs1c+L1assjhw6REeohCx0garoBtWQjSh6Qi/oDb0bz8ar8WGMZ61LRjZzgP7A+PoGwYukgA==</latexit><latexit sha1_base64="SiBp39dZ493ZD4/1ILNjR43WPW4=">AAACIXicbVBNS8NAEN34WetX1aOXxSJUkJKIYPFU9OKxFdMWmlI22027dPPB7kQtIX/Fi3/FiwdFehP/jNs2grY+GHi8N8PMPDcSXIFpfhpLyyura+u5jfzm1vbObmFvv6HCWFJm01CEsuUSxQQPmA0cBGtFkhHfFazpDq8nfvOeScXD4A5GEev4pB9wj1MCWuoWKvWS4xMYuF7ymJ7+0Dg9uWw5wH2msO1I3h8AkTJ8wLMGN7lNu4WiWTanwIvEykgRZah1C2OnF9LYZwFQQZRqW2YEnYRI4FSwNO/EikWEDkmftTUNiF7eSaYfpvhYKz3shVJXAHiq/p5IiK/UyHd15+RCNe9NxP+8dgxepZPwIIqBBXS2yIsFhhBP4sI9LhkFMdKEUMn1rZgOiCQUdKh5HYI1//IiaZyVLbNs1c+L1assjhw6REeohCx0garoBtWQjSh6Qi/oDb0bz8ar8WGMZ61LRjZzgP7A+PoGwYukgA==</latexit>

The best sum of rewards I 
can get, when following 

action u in state x and then 
controlling optimally

State-action value function

• Search for the Q, which satisfies Bellman equation
Q(x,u) = r(x,u,x0) + max

u0
Q(x0,u0)

<latexit sha1_base64="HVBWS+IDVbxnR8XPp/Idjq48lrM="></latexit><latexit sha1_base64="HVBWS+IDVbxnR8XPp/Idjq48lrM="></latexit><latexit sha1_base64="HVBWS+IDVbxnR8XPp/Idjq48lrM="></latexit><latexit sha1_base64="HVBWS+IDVbxnR8XPp/Idjq48lrM="></latexit>
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a b c

d e

Q(x,u) : X ⇥ U ! R
<latexit sha1_base64="SiBp39dZ493ZD4/1ILNjR43WPW4=">AAACIXicbVBNS8NAEN34WetX1aOXxSJUkJKIYPFU9OKxFdMWmlI22027dPPB7kQtIX/Fi3/FiwdFehP/jNs2grY+GHi8N8PMPDcSXIFpfhpLyyura+u5jfzm1vbObmFvv6HCWFJm01CEsuUSxQQPmA0cBGtFkhHfFazpDq8nfvOeScXD4A5GEev4pB9wj1MCWuoWKvWS4xMYuF7ymJ7+0Dg9uWw5wH2msO1I3h8AkTJ8wLMGN7lNu4WiWTanwIvEykgRZah1C2OnF9LYZwFQQZRqW2YEnYRI4FSwNO/EikWEDkmftTUNiF7eSaYfpvhYKz3shVJXAHiq/p5IiK/UyHd15+RCNe9NxP+8dgxepZPwIIqBBXS2yIsFhhBP4sI9LhkFMdKEUMn1rZgOiCQUdKh5HYI1//IiaZyVLbNs1c+L1assjhw6REeohCx0garoBtWQjSh6Qi/oDb0bz8ar8WGMZ61LRjZzgP7A+PoGwYukgA==</latexit><latexit sha1_base64="SiBp39dZ493ZD4/1ILNjR43WPW4=">AAACIXicbVBNS8NAEN34WetX1aOXxSJUkJKIYPFU9OKxFdMWmlI22027dPPB7kQtIX/Fi3/FiwdFehP/jNs2grY+GHi8N8PMPDcSXIFpfhpLyyura+u5jfzm1vbObmFvv6HCWFJm01CEsuUSxQQPmA0cBGtFkhHfFazpDq8nfvOeScXD4A5GEev4pB9wj1MCWuoWKvWS4xMYuF7ymJ7+0Dg9uWw5wH2msO1I3h8AkTJ8wLMGN7lNu4WiWTanwIvEykgRZah1C2OnF9LYZwFQQZRqW2YEnYRI4FSwNO/EikWEDkmftTUNiF7eSaYfpvhYKz3shVJXAHiq/p5IiK/UyHd15+RCNe9NxP+8dgxepZPwIIqBBXS2yIsFhhBP4sI9LhkFMdKEUMn1rZgOiCQUdKh5HYI1//IiaZyVLbNs1c+L1assjhw6REeohCx0garoBtWQjSh6Qi/oDb0bz8ar8WGMZ61LRjZzgP7A+PoGwYukgA==</latexit><latexit sha1_base64="SiBp39dZ493ZD4/1ILNjR43WPW4=">AAACIXicbVBNS8NAEN34WetX1aOXxSJUkJKIYPFU9OKxFdMWmlI22027dPPB7kQtIX/Fi3/FiwdFehP/jNs2grY+GHi8N8PMPDcSXIFpfhpLyyura+u5jfzm1vbObmFvv6HCWFJm01CEsuUSxQQPmA0cBGtFkhHfFazpDq8nfvOeScXD4A5GEev4pB9wj1MCWuoWKvWS4xMYuF7ymJ7+0Dg9uWw5wH2msO1I3h8AkTJ8wLMGN7lNu4WiWTanwIvEykgRZah1C2OnF9LYZwFQQZRqW2YEnYRI4FSwNO/EikWEDkmftTUNiF7eSaYfpvhYKz3shVJXAHiq/p5IiK/UyHd15+RCNe9NxP+8dgxepZPwIIqBBXS2yIsFhhBP4sI9LhkFMdKEUMn1rZgOiCQUdKh5HYI1//IiaZyVLbNs1c+L1assjhw6REeohCx0garoBtWQjSh6Qi/oDb0bz8ar8WGMZ61LRjZzgP7A+PoGwYukgA==</latexit><latexit sha1_base64="SiBp39dZ493ZD4/1ILNjR43WPW4=">AAACIXicbVBNS8NAEN34WetX1aOXxSJUkJKIYPFU9OKxFdMWmlI22027dPPB7kQtIX/Fi3/FiwdFehP/jNs2grY+GHi8N8PMPDcSXIFpfhpLyyura+u5jfzm1vbObmFvv6HCWFJm01CEsuUSxQQPmA0cBGtFkhHfFazpDq8nfvOeScXD4A5GEev4pB9wj1MCWuoWKvWS4xMYuF7ymJ7+0Dg9uWw5wH2msO1I3h8AkTJ8wLMGN7lNu4WiWTanwIvEykgRZah1C2OnF9LYZwFQQZRqW2YEnYRI4FSwNO/EikWEDkmftTUNiF7eSaYfpvhYKz3shVJXAHiq/p5IiK/UyHd15+RCNe9NxP+8dgxepZPwIIqBBXS2yIsFhhBP4sI9LhkFMdKEUMn1rZgOiCQUdKh5HYI1//IiaZyVLbNs1c+L1assjhw6REeohCx0garoBtWQjSh6Qi/oDb0bz8ar8WGMZ61LRjZzgP7A+PoGwYukgA==</latexit>

The best sum of rewards I 
can get, when following 

action u in state x and then 
controlling optimally

State-action value function

• Search for the Q, which satisfies Bellman equation
Q(x,u) = r(x,u,x0) + max

u0
Q(x0,u0)

<latexit sha1_base64="HVBWS+IDVbxnR8XPp/Idjq48lrM="></latexit><latexit sha1_base64="HVBWS+IDVbxnR8XPp/Idjq48lrM="></latexit><latexit sha1_base64="HVBWS+IDVbxnR8XPp/Idjq48lrM="></latexit><latexit sha1_base64="HVBWS+IDVbxnR8XPp/Idjq48lrM="></latexit>

• Once we find it, we can control optimally as follows:
⇡⇤(x) = argmax

u
Q(x,u) = argmax

⇡
J⇡

<latexit sha1_base64="+UZzU5rMKFRWBPrEXw3NJUvkqcE="></latexit><latexit sha1_base64="+UZzU5rMKFRWBPrEXw3NJUvkqcE="></latexit><latexit sha1_base64="+UZzU5rMKFRWBPrEXw3NJUvkqcE="></latexit><latexit sha1_base64="+UZzU5rMKFRWBPrEXw3NJUvkqcE="></latexit>
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a b c

d e

Q(x,u) : X ⇥ U ! R
<latexit sha1_base64="SiBp39dZ493ZD4/1ILNjR43WPW4=">AAACIXicbVBNS8NAEN34WetX1aOXxSJUkJKIYPFU9OKxFdMWmlI22027dPPB7kQtIX/Fi3/FiwdFehP/jNs2grY+GHi8N8PMPDcSXIFpfhpLyyura+u5jfzm1vbObmFvv6HCWFJm01CEsuUSxQQPmA0cBGtFkhHfFazpDq8nfvOeScXD4A5GEev4pB9wj1MCWuoWKvWS4xMYuF7ymJ7+0Dg9uWw5wH2msO1I3h8AkTJ8wLMGN7lNu4WiWTanwIvEykgRZah1C2OnF9LYZwFQQZRqW2YEnYRI4FSwNO/EikWEDkmftTUNiF7eSaYfpvhYKz3shVJXAHiq/p5IiK/UyHd15+RCNe9NxP+8dgxepZPwIIqBBXS2yIsFhhBP4sI9LhkFMdKEUMn1rZgOiCQUdKh5HYI1//IiaZyVLbNs1c+L1assjhw6REeohCx0garoBtWQjSh6Qi/oDb0bz8ar8WGMZ61LRjZzgP7A+PoGwYukgA==</latexit><latexit sha1_base64="SiBp39dZ493ZD4/1ILNjR43WPW4=">AAACIXicbVBNS8NAEN34WetX1aOXxSJUkJKIYPFU9OKxFdMWmlI22027dPPB7kQtIX/Fi3/FiwdFehP/jNs2grY+GHi8N8PMPDcSXIFpfhpLyyura+u5jfzm1vbObmFvv6HCWFJm01CEsuUSxQQPmA0cBGtFkhHfFazpDq8nfvOeScXD4A5GEev4pB9wj1MCWuoWKvWS4xMYuF7ymJ7+0Dg9uWw5wH2msO1I3h8AkTJ8wLMGN7lNu4WiWTanwIvEykgRZah1C2OnF9LYZwFQQZRqW2YEnYRI4FSwNO/EikWEDkmftTUNiF7eSaYfpvhYKz3shVJXAHiq/p5IiK/UyHd15+RCNe9NxP+8dgxepZPwIIqBBXS2yIsFhhBP4sI9LhkFMdKEUMn1rZgOiCQUdKh5HYI1//IiaZyVLbNs1c+L1assjhw6REeohCx0garoBtWQjSh6Qi/oDb0bz8ar8WGMZ61LRjZzgP7A+PoGwYukgA==</latexit><latexit sha1_base64="SiBp39dZ493ZD4/1ILNjR43WPW4=">AAACIXicbVBNS8NAEN34WetX1aOXxSJUkJKIYPFU9OKxFdMWmlI22027dPPB7kQtIX/Fi3/FiwdFehP/jNs2grY+GHi8N8PMPDcSXIFpfhpLyyura+u5jfzm1vbObmFvv6HCWFJm01CEsuUSxQQPmA0cBGtFkhHfFazpDq8nfvOeScXD4A5GEev4pB9wj1MCWuoWKvWS4xMYuF7ymJ7+0Dg9uWw5wH2msO1I3h8AkTJ8wLMGN7lNu4WiWTanwIvEykgRZah1C2OnF9LYZwFQQZRqW2YEnYRI4FSwNO/EikWEDkmftTUNiF7eSaYfpvhYKz3shVJXAHiq/p5IiK/UyHd15+RCNe9NxP+8dgxepZPwIIqBBXS2yIsFhhBP4sI9LhkFMdKEUMn1rZgOiCQUdKh5HYI1//IiaZyVLbNs1c+L1assjhw6REeohCx0garoBtWQjSh6Qi/oDb0bz8ar8WGMZ61LRjZzgP7A+PoGwYukgA==</latexit><latexit sha1_base64="SiBp39dZ493ZD4/1ILNjR43WPW4=">AAACIXicbVBNS8NAEN34WetX1aOXxSJUkJKIYPFU9OKxFdMWmlI22027dPPB7kQtIX/Fi3/FiwdFehP/jNs2grY+GHi8N8PMPDcSXIFpfhpLyyura+u5jfzm1vbObmFvv6HCWFJm01CEsuUSxQQPmA0cBGtFkhHfFazpDq8nfvOeScXD4A5GEev4pB9wj1MCWuoWKvWS4xMYuF7ymJ7+0Dg9uWw5wH2msO1I3h8AkTJ8wLMGN7lNu4WiWTanwIvEykgRZah1C2OnF9LYZwFQQZRqW2YEnYRI4FSwNO/EikWEDkmftTUNiF7eSaYfpvhYKz3shVJXAHiq/p5IiK/UyHd15+RCNe9NxP+8dgxepZPwIIqBBXS2yIsFhhBP4sI9LhkFMdKEUMn1rZgOiCQUdKh5HYI1//IiaZyVLbNs1c+L1assjhw6REeohCx0garoBtWQjSh6Qi/oDb0bz8ar8WGMZ61LRjZzgP7A+PoGwYukgA==</latexit>

The best sum of rewards I 
can get, when following 

action u in state x and then 
controlling optimally

State-action value function

• Search for the Q, which satisfies Bellman equation
Q(x,u) = r(x,u,x0) + max

u0
Q(x0,u0)

<latexit sha1_base64="HVBWS+IDVbxnR8XPp/Idjq48lrM="></latexit><latexit sha1_base64="HVBWS+IDVbxnR8XPp/Idjq48lrM="></latexit><latexit sha1_base64="HVBWS+IDVbxnR8XPp/Idjq48lrM="></latexit><latexit sha1_base64="HVBWS+IDVbxnR8XPp/Idjq48lrM="></latexit>

• Once we find it, we can control optimally as follows:

• Search without model is based on collecting trajectories
⇡⇤(x) = argmax

u
Q(x,u) = argmax

⇡
J⇡

<latexit sha1_base64="+UZzU5rMKFRWBPrEXw3NJUvkqcE="></latexit><latexit sha1_base64="+UZzU5rMKFRWBPrEXw3NJUvkqcE="></latexit><latexit sha1_base64="+UZzU5rMKFRWBPrEXw3NJUvkqcE="></latexit><latexit sha1_base64="+UZzU5rMKFRWBPrEXw3NJUvkqcE="></latexit>



Czech Technical University in Prague
Faculty of Electrical Engineering, Department of Cybernetics

a b c

d e

Q R - right D - down

a ? ?

b ? ?

c ? ?

d ? ?

e ? ?

(a,R, -1), (b, R, -1), (c, R, 10)
<latexit sha1_base64="gZeLKgS5DP8PVkkP2kyPy2ccSck="></latexit><latexit sha1_base64="gZeLKgS5DP8PVkkP2kyPy2ccSck="></latexit><latexit sha1_base64="gZeLKgS5DP8PVkkP2kyPy2ccSck="></latexit><latexit sha1_base64="gZeLKgS5DP8PVkkP2kyPy2ccSck="></latexit>

⌧1 :
<latexit sha1_base64="Lo2WXNiCVzkwdmfFXsRmTi7MsBg="></latexit><latexit sha1_base64="Lo2WXNiCVzkwdmfFXsRmTi7MsBg="></latexit><latexit sha1_base64="Lo2WXNiCVzkwdmfFXsRmTi7MsBg="></latexit><latexit sha1_base64="Lo2WXNiCVzkwdmfFXsRmTi7MsBg="></latexit>
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a b c

d e

(a,R, -1), (b,D, -1),

(d,R, -1), (e,R, -10)
<latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit>

⌧2 :
<latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit>

Having a trajectory, each 
transition gives one equation  

Q R - right D - down

a ? ?

b ? ?

c ? ?

d ? ?

e ? ?



Czech Technical University in Prague
Faculty of Electrical Engineering, Department of Cybernetics

a b c

d e

(a,R, -1), (b,D, -1),

(d,R, -1), (e,R, -10)
<latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit>

⌧2 :
<latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit>

Having a trajectory, each 
transition gives one equation  

Q R - right D - down

a ? ?

b ? ?

c ? ?

d ? ?

e ? ?

Q(b,D) = r(b) + max
u

Q(d,u)
<latexit sha1_base64="vGJwrlhwevt09MGJVAwowClfW98="></latexit>



Czech Technical University in Prague
Faculty of Electrical Engineering, Department of Cybernetics

a b c

d e

(a,R, -1), (b,D, -1),

(d,R, -1), (e,R, -10)
<latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit>

⌧2 :
<latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit>

Having a trajectory, each 
transition gives one equation  

Q R - right D - down

a ? ?

b ? ?

c ? ?

d ? ?

e ? ?

Q(b,D) = r(b) + max
u

Q(d,u)
<latexit sha1_base64="vGJwrlhwevt09MGJVAwowClfW98="></latexit>

Q(a,R) = r(a) + max
u

Q(b,u)
<latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit>

Q(d,R) = r(d) + max
u

Q(e,u)
<latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit>



Czech Technical University in Prague
Faculty of Electrical Engineering, Department of Cybernetics

a b c

d e

(a,R, -1), (b,D, -1),

(d,R, -1), (e,R, -10)
<latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit>

⌧2 :
<latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit>

Q(e,R) = r(e)
<latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit>

Having a trajectory, each 
transition gives one equation  

Q R - right D - down

a ? ?

b ? ?

c ? ?

d ? ?

e ? ?

Q(b,D) = r(b) + max
u

Q(d,u)
<latexit sha1_base64="vGJwrlhwevt09MGJVAwowClfW98="></latexit>

Q(a,R) = r(a) + max
u

Q(b,u)
<latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit>

Q(d,R) = r(d) + max
u

Q(e,u)
<latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit>



Czech Technical University in Prague
Faculty of Electrical Engineering, Department of Cybernetics

a b c

d e

Q(a,R) = r(a) + max
u

Q(b,u)
<latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit>

(a,R, -1), (b,D, -1),

(d,R, -1), (e,R, -10)
<latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit>

⌧2 :
<latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit>

Q(d,R) = r(d) + max
u

Q(e,u)
<latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit>

Q(e,R) = r(e)
<latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit>

Having a trajectory, each 
transition gives one equation  

Q R - right D - down

a ? ?

b ? ?

c ? ?

d ? ?

e ? ?

Q(b,D) = r(b) + max
u

Q(d,u)
<latexit sha1_base64="vGJwrlhwevt09MGJVAwowClfW98="></latexit>



Czech Technical University in Prague
Faculty of Electrical Engineering, Department of Cybernetics

a b c

d e

Q(a,R) = r(a) + max
u

Q(b,u)
<latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit>

(a,R, -1), (b,D, -1),

(d,R, -1), (e,R, -10)
<latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit>

⌧2 :
<latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit>

Q(d,R) = r(d) + max
u

Q(e,u)
<latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit>

Q(e,R) = r(e)
<latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit>

unknowns

Having a trajectory, each 
transition gives one equation  

Q R - right D - down

a ? ?

b ? ?

c ? ?

d ? ?

e ? ?

Q(b,D) = r(b) + max
u

Q(d,u)
<latexit sha1_base64="vGJwrlhwevt09MGJVAwowClfW98="></latexit>



Czech Technical University in Prague
Faculty of Electrical Engineering, Department of Cybernetics

a b c

d e

Q(a,R) = r(a) + max
u

Q(b,u)
<latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit>

(a,R, -1), (b,D, -1),

(d,R, -1), (e,R, -10)
<latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit>

⌧2 :
<latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit>

Q(d,R) = r(d) + max
u

Q(e,u)
<latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit>

Q(e,R) = r(e)
<latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit>

(1) Substitute transitions and 
current Q-values to the right 
side and solve for left side. 

Q R - right D - down

a 0 0

b 0 0

c 0 0

d 0 0

e 0 0

Q(b,D) = r(b) + max
u

Q(d,u)
<latexit sha1_base64="vGJwrlhwevt09MGJVAwowClfW98="></latexit>



Czech Technical University in Prague
Faculty of Electrical Engineering, Department of Cybernetics

a b c

d e

Q(a,R) = r(a) + max
u

Q(b,u)
<latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit>

(a,R, -1), (b,D, -1),

(d,R, -1), (e,R, -10)
<latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit>

⌧2 :
<latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit>

Q(d,R) = r(d) + max
u

Q(e,u)
<latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit>

Q(e,R) = r(e)
<latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit>

(1) Substitute transitions and 
current Q-values to the right 
side and solve for left side. 

-10

Q R - right D - down

a 0 0

b 0 0

c 0 0

d 0 0

e -10 0

Q(b,D) = r(b) + max
u

Q(d,u)
<latexit sha1_base64="vGJwrlhwevt09MGJVAwowClfW98="></latexit>



Czech Technical University in Prague
Faculty of Electrical Engineering, Department of Cybernetics

a b c

d e
Q(b,D) = r(b) + max

u
Q(d,u)

<latexit sha1_base64="vGJwrlhwevt09MGJVAwowClfW98="></latexit>

Q(a,R) = r(a) + max
u

Q(b,u)
<latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit>

(a,R, -1), (b,D, -1),

(d,R, -1), (e,R, -10)
<latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit>

⌧2 :
<latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit>

Q(d,R) = r(d) + max
u

Q(e,u)
<latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit>

Q(e,R) = r(e)
<latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit>

(1) Substitute transitions and 
current Q-values to the right 
side and solve for left side. 

-10
???

Q R - right D - down

a 0 0

b 0 -1

c 0 0

d 0 0

e -10 0



Czech Technical University in Prague
Faculty of Electrical Engineering, Department of Cybernetics

a b c

d e
Q(b,D) = r(b) + max

u
Q(d,u)

<latexit sha1_base64="vGJwrlhwevt09MGJVAwowClfW98="></latexit>

Q(a,R) = r(a) + max
u

Q(b,u)
<latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit>

(a,R, -1), (b,D, -1),

(d,R, -1), (e,R, -10)
<latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit>

⌧2 :
<latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit>

Q(d,R) = r(d) + max
u

Q(e,u)
<latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit>

Q(e,R) = r(e)
<latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit>

(1) Substitute transitions and 
current Q-values to the right 
side and solve for left side. 

-10
-1

Q R - right D - down

a 0 0

b 0 -1

c 0 0

d 0 0

e -10 0



Czech Technical University in Prague
Faculty of Electrical Engineering, Department of Cybernetics

a b c

d e
Q(b,D) = r(b) + max

u
Q(d,u)

<latexit sha1_base64="vGJwrlhwevt09MGJVAwowClfW98="></latexit>

Q(a,R) = r(a) + max
u

Q(b,u)
<latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit>

(a,R, -1), (b,D, -1),

(d,R, -1), (e,R, -10)
<latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit>

⌧2 :
<latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit>

Q(d,R) = r(d) + max
u

Q(e,u)
<latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit>

Q(e,R) = r(e)
<latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit>

(1) Substitute transitions and 
current Q-values to the right 
side and solve for left side. 

Q R - right D - down

a 0 0

b 0 -1

c 0 0

d -1 0

e -10 0

-10
-1
-1



Czech Technical University in Prague
Faculty of Electrical Engineering, Department of Cybernetics

a b c

d e
Q(b,D) = r(b) + max

u
Q(d,u)

<latexit sha1_base64="vGJwrlhwevt09MGJVAwowClfW98="></latexit>

Q(a,R) = r(a) + max
u

Q(b,u)
<latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit>

(a,R, -1), (b,D, -1),

(d,R, -1), (e,R, -10)
<latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit>

⌧2 :
<latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit>

Q(d,R) = r(d) + max
u

Q(e,u)
<latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit>

Q(e,R) = r(e)
<latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit>

(1) Substitute transitions and 
current Q-values to the right 
side and solve for left side. 

-10
-1
-1
-1

Q R - right D - down

a -1 0

b 0 -1

c 0 0

d -1 0

e -10 0



Czech Technical University in Prague
Faculty of Electrical Engineering, Department of Cybernetics

a b c

d e

Q(a,R) = r(a) + max
u

Q(b,u)
<latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit>

(a,R, -1), (b,D, -1),

(d,R, -1), (e,R, -10)
<latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit>

⌧2 :
<latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit>

Q(d,R) = r(d) + max
u

Q(e,u)
<latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit>

Q(e,R) = r(e)
<latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit>

(1) Substitute transitions and 
current Q-values to the right 
side and solve for left side. 
(2) Repeat several times  

Q(b,D) = r(b) + max
u

Q(d,u)
<latexit sha1_base64="vGJwrlhwevt09MGJVAwowClfW98="></latexit>

Q R - right D - down

a -1 0

b 0 -1

c 0 0

d -1 0

e -10 0



Czech Technical University in Prague
Faculty of Electrical Engineering, Department of Cybernetics

a b c

d e

Q(a,R) = r(a) + max
u

Q(b,u)
<latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit>

(a,R, -1), (b,D, -1),

(d,R, -1), (e,R, -10)
<latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit>

⌧2 :
<latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit>

Q(b,R) = r(b) + max
u

Q(d,u)
<latexit sha1_base64="sgIKw2x6sQ70zd5ueuSkwaIF6qE="></latexit><latexit sha1_base64="sgIKw2x6sQ70zd5ueuSkwaIF6qE="></latexit><latexit sha1_base64="sgIKw2x6sQ70zd5ueuSkwaIF6qE="></latexit><latexit sha1_base64="sgIKw2x6sQ70zd5ueuSkwaIF6qE="></latexit>

Q(d,R) = r(d) + max
u

Q(e,u)
<latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit>

Q(e,R) = r(e)
<latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit>

(1) Substitute transitions and 
current Q-values to the right 
side and solve for left side. 
(2) Repeat several times 
(search for the fixed point 
of the Bellman operator) 

Q = B(Q)
<latexit sha1_base64="qQUJSJPDzgMoZGfa+P7fu3mUvQs="></latexit><latexit sha1_base64="qQUJSJPDzgMoZGfa+P7fu3mUvQs="></latexit><latexit sha1_base64="qQUJSJPDzgMoZGfa+P7fu3mUvQs="></latexit><latexit sha1_base64="qQUJSJPDzgMoZGfa+P7fu3mUvQs="></latexit>

Q R - right D - down

a -1 0

b 0 -1

c 0 0

d -1 0

e -10 0



Czech Technical University in Prague
Faculty of Electrical Engineering, Department of Cybernetics

a b c

d e

Q(a,R) = r(a) + max
u

Q(b,u)
<latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit><latexit sha1_base64="zEYdlqrXULBR+qw24DMCe3UjhVU="></latexit>

(a,R, -1), (b,D, -1),

(d,R, -1), (e,R, -10)
<latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit><latexit sha1_base64="5S0BWPLRxSvl6w/JGnOgS2V0YkM="></latexit>

⌧2 :
<latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit><latexit sha1_base64="/4zpBistiTw6kzRWdLIzLm8+RpA="></latexit>

Q(b,R) = r(b) + max
u

Q(d,u)
<latexit sha1_base64="sgIKw2x6sQ70zd5ueuSkwaIF6qE="></latexit><latexit sha1_base64="sgIKw2x6sQ70zd5ueuSkwaIF6qE="></latexit><latexit sha1_base64="sgIKw2x6sQ70zd5ueuSkwaIF6qE="></latexit><latexit sha1_base64="sgIKw2x6sQ70zd5ueuSkwaIF6qE="></latexit>

Q(d,R) = r(d) + max
u

Q(e,u)
<latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit><latexit sha1_base64="r+AyDguoXzf9DgKmrMlMKREBdtE="></latexit>

Q(e,R) = r(e)
<latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit><latexit sha1_base64="XGj0xAT7mFQgvVuJZC+AROtLoOI="></latexit>

(2) Repeat several times 
(search for the fixed point 
of the Bellman operator) 

Q = B(Q)
<latexit sha1_base64="qQUJSJPDzgMoZGfa+P7fu3mUvQs="></latexit><latexit sha1_base64="qQUJSJPDzgMoZGfa+P7fu3mUvQs="></latexit><latexit sha1_base64="qQUJSJPDzgMoZGfa+P7fu3mUvQs="></latexit><latexit sha1_base64="qQUJSJPDzgMoZGfa+P7fu3mUvQs="></latexit>

(1) Substitute transitions and 
current Q-values to the right 
side and solve for left side. Iterations of the Bellman 

operator converge to a fixed 
point !!!
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Bellman equation

Q(x,u) = r(x,u,x0) + max
u0

Q(x0,u0)
<latexit sha1_base64="HVBWS+IDVbxnR8XPp/Idjq48lrM="></latexit><latexit sha1_base64="HVBWS+IDVbxnR8XPp/Idjq48lrM="></latexit><latexit sha1_base64="HVBWS+IDVbxnR8XPp/Idjq48lrM="></latexit><latexit sha1_base64="HVBWS+IDVbxnR8XPp/Idjq48lrM="></latexit>

reward for transition the best you can do from 
the following state

0 0 0 0 0 0

0 0

+1 0 0 0 0 0

Which path is better?



Czech Technical University in Prague
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Bellman equation

reward for transition the best you can do from 
the following state

0 0 0 0 0 0

0 0

+1 0 0 0 0 0

discount factor   

Q(x,u) = r(x,u,x0) + �max
u0

Q(x0,u0)
<latexit sha1_base64="4bQsPEpmZJFLU1hBUHf11UrAx1M="></latexit><latexit sha1_base64="4bQsPEpmZJFLU1hBUHf11UrAx1M="></latexit><latexit sha1_base64="4bQsPEpmZJFLU1hBUHf11UrAx1M="></latexit><latexit sha1_base64="4bQsPEpmZJFLU1hBUHf11UrAx1M="></latexit>

� 2 [0; 1]
<latexit sha1_base64="ncQYALpikAM/AnmX9eyeH3Ulffk="></latexit><latexit sha1_base64="ncQYALpikAM/AnmX9eyeH3Ulffk="></latexit><latexit sha1_base64="ncQYALpikAM/AnmX9eyeH3Ulffk="></latexit><latexit sha1_base64="ncQYALpikAM/AnmX9eyeH3Ulffk="></latexit>



Czech Technical University in Prague
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Q-learning

1. Collect trajectories 
2. Solve 
3. Repeat from 1

Q(x,u) = r(x,u,x0) + �max
u0

Q(x0,u0)
<latexit sha1_base64="4bQsPEpmZJFLU1hBUHf11UrAx1M="></latexit><latexit sha1_base64="4bQsPEpmZJFLU1hBUHf11UrAx1M="></latexit><latexit sha1_base64="4bQsPEpmZJFLU1hBUHf11UrAx1M="></latexit><latexit sha1_base64="4bQsPEpmZJFLU1hBUHf11UrAx1M="></latexit>

⌧1, ⌧2, ⌧3, . . .
<latexit sha1_base64="GDIojasoGLo3KMdZaEDUdmR3gsU="></latexit><latexit sha1_base64="GDIojasoGLo3KMdZaEDUdmR3gsU="></latexit><latexit sha1_base64="GDIojasoGLo3KMdZaEDUdmR3gsU="></latexit><latexit sha1_base64="GDIojasoGLo3KMdZaEDUdmR3gsU="></latexit>



Czech Technical University in Prague
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Q-learning

1. Collect trajectories 
2. Solve 
3. Repeat from 1
• Curse of dimensionality

Q(x,u) = r(x,u,x0) + �max
u0

Q(x0,u0)
<latexit sha1_base64="4bQsPEpmZJFLU1hBUHf11UrAx1M="></latexit><latexit sha1_base64="4bQsPEpmZJFLU1hBUHf11UrAx1M="></latexit><latexit sha1_base64="4bQsPEpmZJFLU1hBUHf11UrAx1M="></latexit><latexit sha1_base64="4bQsPEpmZJFLU1hBUHf11UrAx1M="></latexit>

⌧1, ⌧2, ⌧3, . . .
<latexit sha1_base64="GDIojasoGLo3KMdZaEDUdmR3gsU="></latexit><latexit sha1_base64="GDIojasoGLo3KMdZaEDUdmR3gsU="></latexit><latexit sha1_base64="GDIojasoGLo3KMdZaEDUdmR3gsU="></latexit><latexit sha1_base64="GDIojasoGLo3KMdZaEDUdmR3gsU="></latexit>



Czech Technical University in Prague
Faculty of Electrical Engineering, Department of Cybernetics

Q-learning

1. Collect trajectories 
2. Solve 
3. Repeat from 1
• Curse of dimensionality

Q✓(x,u)
<latexit sha1_base64="TM1uKbX/JUpduIq7KZns2DpEWSI="></latexit><latexit sha1_base64="TM1uKbX/JUpduIq7KZns2DpEWSI="></latexit><latexit sha1_base64="TM1uKbX/JUpduIq7KZns2DpEWSI="></latexit><latexit sha1_base64="TM1uKbX/JUpduIq7KZns2DpEWSI="></latexit>

• Replace table              by functionQ(x,u)
<latexit sha1_base64="JkC7QOSGzUIwfdycPP4yh0t3oOU="></latexit><latexit sha1_base64="JkC7QOSGzUIwfdycPP4yh0t3oOU="></latexit><latexit sha1_base64="JkC7QOSGzUIwfdycPP4yh0t3oOU="></latexit><latexit sha1_base64="JkC7QOSGzUIwfdycPP4yh0t3oOU="></latexit>

Q(x,u) = r(x,u,x0) + �max
u0

Q(x0,u0)
<latexit sha1_base64="4bQsPEpmZJFLU1hBUHf11UrAx1M="></latexit><latexit sha1_base64="4bQsPEpmZJFLU1hBUHf11UrAx1M="></latexit><latexit sha1_base64="4bQsPEpmZJFLU1hBUHf11UrAx1M="></latexit><latexit sha1_base64="4bQsPEpmZJFLU1hBUHf11UrAx1M="></latexit>

⌧1, ⌧2, ⌧3, . . .
<latexit sha1_base64="GDIojasoGLo3KMdZaEDUdmR3gsU="></latexit><latexit sha1_base64="GDIojasoGLo3KMdZaEDUdmR3gsU="></latexit><latexit sha1_base64="GDIojasoGLo3KMdZaEDUdmR3gsU="></latexit><latexit sha1_base64="GDIojasoGLo3KMdZaEDUdmR3gsU="></latexit>
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1. Collect trajectories                     , initialize 
2. Estimate 
3. Update parameters by learning 
 

4. Repeat from 2 
5. Repeat from 1

Q-learning

⌧1, ⌧2, ⌧3, . . .
<latexit sha1_base64="GDIojasoGLo3KMdZaEDUdmR3gsU="></latexit><latexit sha1_base64="GDIojasoGLo3KMdZaEDUdmR3gsU="></latexit><latexit sha1_base64="GDIojasoGLo3KMdZaEDUdmR3gsU="></latexit><latexit sha1_base64="GDIojasoGLo3KMdZaEDUdmR3gsU="></latexit>

1. Collect trajectories 
2. Solve 
3. Repeat from 1
• Curse of dimensionality

Q✓(x,u)
<latexit sha1_base64="TM1uKbX/JUpduIq7KZns2DpEWSI="></latexit><latexit sha1_base64="TM1uKbX/JUpduIq7KZns2DpEWSI="></latexit><latexit sha1_base64="TM1uKbX/JUpduIq7KZns2DpEWSI="></latexit><latexit sha1_base64="TM1uKbX/JUpduIq7KZns2DpEWSI="></latexit>

• Replace table              by functionQ(x,u)
<latexit sha1_base64="JkC7QOSGzUIwfdycPP4yh0t3oOU="></latexit><latexit sha1_base64="JkC7QOSGzUIwfdycPP4yh0t3oOU="></latexit><latexit sha1_base64="JkC7QOSGzUIwfdycPP4yh0t3oOU="></latexit><latexit sha1_base64="JkC7QOSGzUIwfdycPP4yh0t3oOU="></latexit>

Q(x,u) = r(x,u,x0) + �max
u0

Q(x0,u0)
<latexit sha1_base64="4bQsPEpmZJFLU1hBUHf11UrAx1M="></latexit><latexit sha1_base64="4bQsPEpmZJFLU1hBUHf11UrAx1M="></latexit><latexit sha1_base64="4bQsPEpmZJFLU1hBUHf11UrAx1M="></latexit><latexit sha1_base64="4bQsPEpmZJFLU1hBUHf11UrAx1M="></latexit>

✓ = rand
<latexit sha1_base64="V9WfTwxHsFIK5ezXTPIV77CkBJ8="></latexit><latexit sha1_base64="V9WfTwxHsFIK5ezXTPIV77CkBJ8="></latexit><latexit sha1_base64="V9WfTwxHsFIK5ezXTPIV77CkBJ8="></latexit><latexit sha1_base64="V9WfTwxHsFIK5ezXTPIV77CkBJ8="></latexit>

y = r(x,u,x0) + �max
u0

Q✓(x
0,u0)

<latexit sha1_base64="zyya9kmUcR3qjOuDwwsaBPhqumU="></latexit><latexit sha1_base64="zyya9kmUcR3qjOuDwwsaBPhqumU="></latexit><latexit sha1_base64="zyya9kmUcR3qjOuDwwsaBPhqumU="></latexit><latexit sha1_base64="zyya9kmUcR3qjOuDwwsaBPhqumU="></latexit>

⌧1, ⌧2, ⌧3, . . .
<latexit sha1_base64="GDIojasoGLo3KMdZaEDUdmR3gsU="></latexit><latexit sha1_base64="GDIojasoGLo3KMdZaEDUdmR3gsU="></latexit><latexit sha1_base64="GDIojasoGLo3KMdZaEDUdmR3gsU="></latexit><latexit sha1_base64="GDIojasoGLo3KMdZaEDUdmR3gsU="></latexit>

argmin
✓

X

x,u,y

kQ✓(x,u)� yk
<latexit sha1_base64="HmgcMsPZdWJl1SJ8ZHpMublf4g0="></latexit><latexit sha1_base64="HmgcMsPZdWJl1SJ8ZHpMublf4g0="></latexit><latexit sha1_base64="HmgcMsPZdWJl1SJ8ZHpMublf4g0="></latexit><latexit sha1_base64="HmgcMsPZdWJl1SJ8ZHpMublf4g0="></latexit>

Approximate Q-learning



Czech Technical University in Prague
Faculty of Electrical Engineering, Department of Cybernetics

1. Collect trajectories                     , initialize 
2. Estimate 
3. Update parameters by learning 
 

4. Repeat from 2 
5. Repeat from 1

Q-learning
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Approximate Q-learning

Approximated Q-learning does not 
have to converge to a fixed-point !!!
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• 2600 atari games 
• state space: pixels (e.g. VGA resolution) 
• action space: discrete joystic actions (8 direction +  

8 direction with button + neutral action) 
• replay buffer (decorrelates samples to be “more i.i.d”) 
• two Q-networks (suppress oscilations)

difficult and engaging for human players. We used the same network
architecture, hyperparameter values (see Extended Data Table 1) and
learning procedure throughout—taking high-dimensional data (210|160
colour video at 60 Hz) as input—to demonstrate that our approach
robustly learns successful policies over a variety of games based solely
on sensory inputs with only very minimal prior knowledge (that is, merely
the input data were visual images, and the number of actions available
in each game, but not their correspondences; see Methods). Notably,
our method was able to train large neural networks using a reinforce-
ment learning signal and stochastic gradient descent in a stable manner—
illustrated by the temporal evolution of two indices of learning (the
agent’s average score-per-episode and average predicted Q-values; see
Fig. 2 and Supplementary Discussion for details).

We compared DQN with the best performing methods from the
reinforcement learning literature on the 49 games where results were
available12,15. In addition to the learned agents, we also report scores for
a professional human games tester playing under controlled conditions
and a policy that selects actions uniformly at random (Extended Data
Table 2 and Fig. 3, denoted by 100% (human) and 0% (random) on y
axis; see Methods). Our DQN method outperforms the best existing
reinforcement learning methods on 43 of the games without incorpo-
rating any of the additional prior knowledge about Atari 2600 games
used by other approaches (for example, refs 12, 15). Furthermore, our
DQN agent performed at a level that was comparable to that of a pro-
fessional human games tester across the set of 49 games, achieving more
than 75% of the human score on more than half of the games (29 games;

Convolution Convolution Fully connected Fully connected

No input

Figure 1 | Schematic illustration of the convolutional neural network. The
details of the architecture are explained in the Methods. The input to the neural
network consists of an 84 3 84 3 4 image produced by the preprocessing
map w, followed by three convolutional layers (note: snaking blue line

symbolizes sliding of each filter across input image) and two fully connected
layers with a single output for each valid action. Each hidden layer is followed
by a rectifier nonlinearity (that is, max 0,xð Þ).
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Figure 2 | Training curves tracking the agent’s average score and average
predicted action-value. a, Each point is the average score achieved per episode
after the agent is run with e-greedy policy (e 5 0.05) for 520 k frames on Space
Invaders. b, Average score achieved per episode for Seaquest. c, Average
predicted action-value on a held-out set of states on Space Invaders. Each point

on the curve is the average of the action-value Q computed over the held-out
set of states. Note that Q-values are scaled due to clipping of rewards (see
Methods). d, Average predicted action-value on Seaquest. See Supplementary
Discussion for details.
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• 2600 atari games 
• state space: pixels (e.g. VGA resolution) 
• action space: discrete joystic actions (8 directions + 

8 directions with button) 
• collection of control tasks: https://gym.openai.com

Mnih et al. Nature 2015

https://gym.openai.com
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see Fig. 3, Supplementary Discussion and Extended Data Table 2). In
additional simulations (see Supplementary Discussion and Extended
Data Tables 3 and 4), we demonstrate the importance of the individual
core components of the DQN agent—the replay memory, separate target
Q-network and deep convolutional network architecture—by disabling
them and demonstrating the detrimental effects on performance.

We next examined the representations learned by DQN that under-
pinned the successful performance of the agent in the context of the game
Space Invaders (see Supplementary Video 1 for a demonstration of the
performance of DQN), by using a technique developed for the visual-
ization of high-dimensional data called ‘t-SNE’25 (Fig. 4). As expected,
the t-SNE algorithm tends to map the DQN representation of percep-
tually similar states to nearby points. Interestingly, we also found instances
in which the t-SNE algorithm generated similar embeddings for DQN
representations of states that are close in terms of expected reward but

perceptually dissimilar (Fig. 4, bottom right, top left and middle), con-
sistent with the notion that the network is able to learn representations
that support adaptive behaviour from high-dimensional sensory inputs.
Furthermore, we also show that the representations learned by DQN
are able to generalize to data generated from policies other than its
own—in simulations where we presented as input to the network game
states experienced during human and agent play, recorded the repre-
sentations of the last hidden layer, and visualized the embeddings gen-
erated by the t-SNE algorithm (Extended Data Fig. 1 and Supplementary
Discussion). Extended Data Fig. 2 provides an additional illustration of
how the representations learned by DQN allow it to accurately predict
state and action values.

It is worth noting that the games in which DQN excels are extremely
varied in their nature, from side-scrolling shooters (River Raid) to box-
ing games (Boxing) and three-dimensional car-racing games (Enduro).

Montezuma's Revenge
Private Eye

Gravitar
Frostbite
Asteroids

Ms. Pac-Man
Bowling

Double Dunk
Seaquest

Venture
Alien

Amidar

River Raid
Bank Heist

Zaxxon

Centipede
Chopper Command

Wizard of Wor
Battle Zone

Asterix
H.E.R.O.

Q*bert
Ice Hockey

Up and Down
Fishing Derby

Enduro
Time Pilot

Freeway
Kung-Fu Master

Tutankham
Beam Rider

Space Invaders
Pong

James Bond
Tennis

Kangaroo
Road Runner

Assault
Krull

Name This Game
Demon Attack

Gopher
Crazy Climber

Atlantis
Robotank

Star Gunner
Breakout

Boxing
Video Pinball

At human-level or above

Below human-level

0 100 200 300 400 4,500%500 1,000600

Best linear learner

DQN

Figure 3 | Comparison of the DQN agent with the best reinforcement
learning methods15 in the literature. The performance of DQN is normalized
with respect to a professional human games tester (that is, 100% level) and
random play (that is, 0% level). Note that the normalized performance of DQN,
expressed as a percentage, is calculated as: 100 3 (DQN score 2 random play
score)/(human score 2 random play score). It can be seen that DQN

outperforms competing methods (also see Extended Data Table 2) in almost all
the games, and performs at a level that is broadly comparable with or superior
to a professional human games tester (that is, operationalized as a level of
75% or above) in the majority of games. Audio output was disabled for both
human players and agents. Error bars indicate s.d. across the 30 evaluation
episodes, starting with different initial conditions.
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Average of different estimates helps a lot
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• If model available it is often better to train the state-
value function.

Value  function
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Such estimate has high variance =>  
re-use older estimates of          and estimate exponentially 
weighting average
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<latexit sha1_base64="3VGSvPHy0Y20A9ig3Z/oAMuDwRI=">AAACHnicbVDLSgMxFM3UV62vqks3wSK0CGWmtehGKLrQZQX7gE47ZNJMG5rMDElGLEO/xI2/4saFIoIr/RszbRFtPRA495x7yb3HDRmVyjS/jNTS8srqWno9s7G5tb2T3d1ryCASmNRxwALRcpEkjPqkrqhipBUKgrjLSNMdXiZ+844ISQP/Vo1C0uGo71OPYqS05GQrV904XyqM4TkUjgWPod1HnCNdlH6Kbgk28jZHauB68f3YKRecbM4smhPARWLNSA7MUHOyH3YvwBEnvsIMSdm2zFB1YiQUxYyMM3YkSYjwEPVJW1MfcSI78eS8MTzSSg96gdDPV3Ci/p6IEZdyxF3dmSwp571E/M9rR8o768TUDyNFfDz9yIsYVAFMsoI9KghWbKQJwoLqXSEeIIGw0olmdAjW/MmLpFEqWuVi5eYkV72YxZEGB+AQ5IEFTkEVXIMaqAMMHsATeAGvxqPxbLwZ79PWlDGb2Qd/YHx+A8qen0E=</latexit>

…
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V (x) = EG⇠⇡[G] ⇡ 1

N

X

i

Gi

<latexit sha1_base64="UbOXH0zRtx/d3ZD6cdb1cCPxbk4="></latexit>

Such estimate has high variance =>  
re-use older estimates of          and estimate exponentially 
weighting average

V (x)
<latexit sha1_base64="uFvg6pPpNhb/T2zeivZCxby9qYM="></latexit>

V (x) ⇡ (1� ↵)V (x) + ↵Gi = V (x) + ↵(Gi � V (x))
<latexit sha1_base64="n5Re2qySfLxpgvKAMLIeIENIKR4="></latexit>

Such estimate has smaller variance but is still bad =>

G(1) = r1 + �V (x2)
<latexit sha1_base64="3Wc5Q9ir1ivPKyVZFk2sqa0ukSw=">AAACDnicbVDLSgMxFM34rPVVdekmWAotQpmpim6EogtdVrAP6IxDJs20oUlmSDJiGfoFbvwVNy4UcevanX9j+lho64ELh3Pu5d57gphRpW3721pYXFpeWc2sZdc3Nre2czu7DRUlEpM6jlgkWwFShFFB6ppqRlqxJIgHjDSD/uXIb94TqWgkbvUgJh5HXUFDipE2kp8rXN2lRac0hOdQ+g48dLuIcwQbRZcj3QvC9GHoV0p+Lm+X7THgPHGmJA+mqPm5L7cT4YQToTFDSrUdO9ZeiqSmmJFh1k0UiRHuoy5pGyoQJ8pLx+8MYcEoHRhG0pTQcKz+nkgRV2rAA9M5OlLNeiPxP6+d6PDMS6mIE00EniwKEwZ1BEfZwA6VBGs2MARhSc2tEPeQRFibBLMmBGf25XnSqJSdo/LJzXG+ejGNIwP2wQEoAgecgiq4BjVQBxg8gmfwCt6sJ+vFerc+Jq0L1nRmD/yB9fkDp9WaAg==</latexit>

G(1) = r1 + �r2 + �2r3 + ...
<latexit sha1_base64="IdUZJf0TXl0ebh4iSVwHJm689WM=">AAACHHicbVDLSgMxFM3UV62vqks3wSJUCsNMq+hGKLrQZQXbCp1pyaSZNjTJDElGKEM/xI2/4saFIm5cCP6N6WOhrRcC53EvN/cEMaNKO863lVlaXlldy67nNja3tnfyu3sNFSUSkzqOWCTvA6QIo4LUNdWM3MeSIB4w0gwGV2O/+UCkopG408OY+Bz1BA0pRtpInXzlup0WPSpCPTwewQsoOy4seT3EOTK4DEtwStplQyuG2rbdyRcc25kUXATuDBTArGqd/KfXjXDCidCYIaVarhNrP0VSU8zIKOclisQID1CPtAwUiBPlp5PjRvDIKF0YRtI8oeFE/T2RIq7UkAemkyPdV/PeWPzPayU6PPdTKuJEE4Gni8KEQR3BcVKwSyXBmg0NQFhS81eI+0girE2eOROCO3/yImiUbbdin96eFKqXsziy4AAcgiJwwRmoghtQA3WAwSN4Bq/gzXqyXqx362PamrFmM/vgT1lfP5BnneM=</latexit>

G(2) = r1 + �r2 + �2V (x3)
<latexit sha1_base64="3VGSvPHy0Y20A9ig3Z/oAMuDwRI=">AAACHnicbVDLSgMxFM3UV62vqks3wSK0CGWmtehGKLrQZQX7gE47ZNJMG5rMDElGLEO/xI2/4saFIoIr/RszbRFtPRA495x7yb3HDRmVyjS/jNTS8srqWno9s7G5tb2T3d1ryCASmNRxwALRcpEkjPqkrqhipBUKgrjLSNMdXiZ+844ISQP/Vo1C0uGo71OPYqS05GQrV904XyqM4TkUjgWPod1HnCNdlH6Kbgk28jZHauB68f3YKRecbM4smhPARWLNSA7MUHOyH3YvwBEnvsIMSdm2zFB1YiQUxYyMM3YkSYjwEPVJW1MfcSI78eS8MTzSSg96gdDPV3Ci/p6IEZdyxF3dmSwp571E/M9rR8o768TUDyNFfDz9yIsYVAFMsoI9KghWbKQJwoLqXSEeIIGw0olmdAjW/MmLpFEqWuVi5eYkV72YxZEGB+AQ5IEFTkEVXIMaqAMMHsATeAGvxqPxbLwZ79PWlDGb2Qd/YHx+A8qen0E=</latexit>

…

MC estimate:  
high variance, no bias

TD estimate:  
small variance,  
strong bias
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G(1) = r1 + �V (x2)
<latexit sha1_base64="3Wc5Q9ir1ivPKyVZFk2sqa0ukSw=">AAACDnicbVDLSgMxFM34rPVVdekmWAotQpmpim6EogtdVrAP6IxDJs20oUlmSDJiGfoFbvwVNy4UcevanX9j+lho64ELh3Pu5d57gphRpW3721pYXFpeWc2sZdc3Nre2czu7DRUlEpM6jlgkWwFShFFB6ppqRlqxJIgHjDSD/uXIb94TqWgkbvUgJh5HXUFDipE2kp8rXN2lRac0hOdQ+g48dLuIcwQbRZcj3QvC9GHoV0p+Lm+X7THgPHGmJA+mqPm5L7cT4YQToTFDSrUdO9ZeiqSmmJFh1k0UiRHuoy5pGyoQJ8pLx+8MYcEoHRhG0pTQcKz+nkgRV2rAA9M5OlLNeiPxP6+d6PDMS6mIE00EniwKEwZ1BEfZwA6VBGs2MARhSc2tEPeQRFibBLMmBGf25XnSqJSdo/LJzXG+ejGNIwP2wQEoAgecgiq4BjVQBxg8gmfwCt6sJ+vFerc+Jq0L1nRmD/yB9fkDp9WaAg==</latexit>

G(1) = r1 + �r2 + �2r3 + ...
<latexit sha1_base64="IdUZJf0TXl0ebh4iSVwHJm689WM=">AAACHHicbVDLSgMxFM3UV62vqks3wSJUCsNMq+hGKLrQZQXbCp1pyaSZNjTJDElGKEM/xI2/4saFIm5cCP6N6WOhrRcC53EvN/cEMaNKO863lVlaXlldy67nNja3tnfyu3sNFSUSkzqOWCTvA6QIo4LUNdWM3MeSIB4w0gwGV2O/+UCkopG408OY+Bz1BA0pRtpInXzlup0WPSpCPTwewQsoOy4seT3EOTK4DEtwStplQyuG2rbdyRcc25kUXATuDBTArGqd/KfXjXDCidCYIaVarhNrP0VSU8zIKOclisQID1CPtAwUiBPlp5PjRvDIKF0YRtI8oeFE/T2RIq7UkAemkyPdV/PeWPzPayU6PPdTKuJEE4Gni8KEQR3BcVKwSyXBmg0NQFhS81eI+0girE2eOROCO3/yImiUbbdin96eFKqXsziy4AAcgiJwwRmoghtQA3WAwSN4Bq/gzXqyXqx362PamrFmM/vgT1lfP5BnneM=</latexit>

G(2) = r1 + �r2 + �2V (x3)
<latexit sha1_base64="3VGSvPHy0Y20A9ig3Z/oAMuDwRI=">AAACHnicbVDLSgMxFM3UV62vqks3wSK0CGWmtehGKLrQZQX7gE47ZNJMG5rMDElGLEO/xI2/4saFIoIr/RszbRFtPRA495x7yb3HDRmVyjS/jNTS8srqWno9s7G5tb2T3d1ryCASmNRxwALRcpEkjPqkrqhipBUKgrjLSNMdXiZ+844ISQP/Vo1C0uGo71OPYqS05GQrV904XyqM4TkUjgWPod1HnCNdlH6Kbgk28jZHauB68f3YKRecbM4smhPARWLNSA7MUHOyH3YvwBEnvsIMSdm2zFB1YiQUxYyMM3YkSYjwEPVJW1MfcSI78eS8MTzSSg96gdDPV3Ci/p6IEZdyxF3dmSwp571E/M9rR8o768TUDyNFfDz9yIsYVAFMsoI9KghWbKQJwoLqXSEeIIGw0olmdAjW/MmLpFEqWuVi5eYkV72YxZEGB+AQ5IEFTkEVXIMaqAMMHsATeAGvxqPxbLwZ79PWlDGb2Qd/YHx+A8qen0E=</latexit>

…

G� = (1� �)
1X

n=1

�n�1G(n) =
<latexit sha1_base64="Wcln4xuDXIJZ94V1EiHtfIjXitE="></latexit>

Convex combination of all possible return estimates 

= (1� �)G(1) + (1� �)�G(2) + (1� �)�2G(3) + . . .
<latexit sha1_base64="9L4p4SZzxSjZlqVUSvGF+bfH1YM="></latexit>

coeffs sums to 1
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G� = (1� �)
1X

n=1

�n�1G(n) =
<latexit sha1_base64="Wcln4xuDXIJZ94V1EiHtfIjXitE="></latexit>

= (1� �)G(1) + (1� �)�G(2) + (1� �)�2G(3) + . . .
<latexit sha1_base64="9L4p4SZzxSjZlqVUSvGF+bfH1YM="></latexit>

1 2 3…

co
ef

fs
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G� = (1� �)
1X

n=1

�n�1G(n) =
<latexit sha1_base64="Wcln4xuDXIJZ94V1EiHtfIjXitE="></latexit>

= (1� �)G(1) + (1� �)�G(2) + (1� �)�2G(3) + . . .
<latexit sha1_base64="9L4p4SZzxSjZlqVUSvGF+bfH1YM="></latexit>

• In reality, sequences have finite length

. . . (1� �)�(N�2)G(N�1) + �(N�1)G(N)
<latexit sha1_base64="n27AlbVHHwG47Bnp+AFWb9wL8PY="></latexit>

1 2 3… N

co
ef

fs
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G� = (1� �)
1X

n=1

�n�1G(n) =
<latexit sha1_base64="Wcln4xuDXIJZ94V1EiHtfIjXitE="></latexit>

= (1� �)G(1) + (1� �)�G(2) + (1� �)�2G(3) + . . .
<latexit sha1_base64="9L4p4SZzxSjZlqVUSvGF+bfH1YM="></latexit>

• In reality, sequences have finite length

. . . (1� �)�(N�2)G(N�1) + �(N�1)G(N)
<latexit sha1_base64="n27AlbVHHwG47Bnp+AFWb9wL8PY="></latexit>

• Last coeff sums up all coeffs from N to infinity.

1 2 3… N

co
ef

fs
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G� = (1� �)
1X

n=1

�n�1G(n) =
<latexit sha1_base64="Wcln4xuDXIJZ94V1EiHtfIjXitE="></latexit>

= (1� �)G(1) + (1� �)�G(2) + (1� �)�2G(3) + . . .
<latexit sha1_base64="9L4p4SZzxSjZlqVUSvGF+bfH1YM="></latexit>

. . . (1� �)�(N�2)G(N�1) + �(N�1)G(N)
<latexit sha1_base64="n27AlbVHHwG47Bnp+AFWb9wL8PY="></latexit>

learning algorithmTD(�)
<latexit sha1_base64="qKh4mTpckmBMeaUMdsQDdgTeddg=">AAADuXicjZJba9swFMdP7V267NJse9yLWAi0lAY73Q1GoWyD7ml00LSFOAmyIjdaZclI8iCYfMm97QMM9jF2fNmapgtUIPlc/j+dI1lxJoV1QfBzw/Pv3L13f/NB6+Gjx0+22k+fnVqdG8YHTEttzmNquRSKD5xwkp9nhtM0lvwsvvxY5s++c2OFVidunvFRSi+USASjDkO6/Ru6cARjKCACCRRSiGGK3wUQOMC5DSHsreR20L eQoz9BTqEuRH29h0A/AQdzjFynxpV2r9LWFbfR32kqdXFt4XqwpuJfImyIXZzru1v2yT+2X7G7t+TGqL9i9xu27DHCvMYz2lvuU/JfUNdvej9aii2fZx1Xa66o0vuFnZzAJ/RXqk/anaAXVIPcNMLG6EAzjiftH9FUszzlyjFJrR2GQeZGBTVOMMkXrSi3PKPskl7wIZqKptyOiurlLUgXI1OSaINTOVJFl4mCptbO0xiVKXUzu5org//LDXOXvBsVQmW544rVhZJcEqdJ+YzJVBjOnJyjQZkR2CthM2ooc/jYW3gJ4eqRbxqn/V6433v99VXn8ENzHZvwAl5Wv/UtHMJnOIYBMO+NF3ncS/z3PvVn/rda6m00zHO4Nnz7B96S1jQ=</latexit>

1. collect trajectories 
2. for each state     estimate 
3. Update state-value function: 

4. repeat from 1 

G�
<latexit sha1_base64="7bNNg0mvUXrzIC5q8eWlEhO9qa0="></latexit>

x
<latexit sha1_base64="XkqCcuRHgVBvjtGa0o1F3Bx008s="></latexit>

V (x) = V (x) + ↵(G� � V (x))
<latexit sha1_base64="3YMqZh53t+sz06MjSdZHh8yM7r0="></latexit>
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G(1) = r1 + �V (x2)
<latexit sha1_base64="3Wc5Q9ir1ivPKyVZFk2sqa0ukSw=">AAACDnicbVDLSgMxFM34rPVVdekmWAotQpmpim6EogtdVrAP6IxDJs20oUlmSDJiGfoFbvwVNy4UcevanX9j+lho64ELh3Pu5d57gphRpW3721pYXFpeWc2sZdc3Nre2czu7DRUlEpM6jlgkWwFShFFB6ppqRlqxJIgHjDSD/uXIb94TqWgkbvUgJh5HXUFDipE2kp8rXN2lRac0hOdQ+g48dLuIcwQbRZcj3QvC9GHoV0p+Lm+X7THgPHGmJA+mqPm5L7cT4YQToTFDSrUdO9ZeiqSmmJFh1k0UiRHuoy5pGyoQJ8pLx+8MYcEoHRhG0pTQcKz+nkgRV2rAA9M5OlLNeiPxP6+d6PDMS6mIE00EniwKEwZ1BEfZwA6VBGs2MARhSc2tEPeQRFibBLMmBGf25XnSqJSdo/LJzXG+ejGNIwP2wQEoAgecgiq4BjVQBxg8gmfwCt6sJ+vFerc+Jq0L1nRmD/yB9fkDp9WaAg==</latexit>

G(1) = r1 + �r2 + �2r3 + ...
<latexit sha1_base64="IdUZJf0TXl0ebh4iSVwHJm689WM=">AAACHHicbVDLSgMxFM3UV62vqks3wSJUCsNMq+hGKLrQZQXbCp1pyaSZNjTJDElGKEM/xI2/4saFIm5cCP6N6WOhrRcC53EvN/cEMaNKO863lVlaXlldy67nNja3tnfyu3sNFSUSkzqOWCTvA6QIo4LUNdWM3MeSIB4w0gwGV2O/+UCkopG408OY+Bz1BA0pRtpInXzlup0WPSpCPTwewQsoOy4seT3EOTK4DEtwStplQyuG2rbdyRcc25kUXATuDBTArGqd/KfXjXDCidCYIaVarhNrP0VSU8zIKOclisQID1CPtAwUiBPlp5PjRvDIKF0YRtI8oeFE/T2RIq7UkAemkyPdV/PeWPzPayU6PPdTKuJEE4Gni8KEQR3BcVKwSyXBmg0NQFhS81eI+0girE2eOROCO3/yImiUbbdin96eFKqXsziy4AAcgiJwwRmoghtQA3WAwSN4Bq/gzXqyXqx362PamrFmM/vgT1lfP5BnneM=</latexit>

G(2) = r1 + �r2 + �2V (x3)
<latexit sha1_base64="3VGSvPHy0Y20A9ig3Z/oAMuDwRI=">AAACHnicbVDLSgMxFM3UV62vqks3wSK0CGWmtehGKLrQZQX7gE47ZNJMG5rMDElGLEO/xI2/4saFIoIr/RszbRFtPRA495x7yb3HDRmVyjS/jNTS8srqWno9s7G5tb2T3d1ryCASmNRxwALRcpEkjPqkrqhipBUKgrjLSNMdXiZ+844ISQP/Vo1C0uGo71OPYqS05GQrV904XyqM4TkUjgWPod1HnCNdlH6Kbgk28jZHauB68f3YKRecbM4smhPARWLNSA7MUHOyH3YvwBEnvsIMSdm2zFB1YiQUxYyMM3YkSYjwEPVJW1MfcSI78eS8MTzSSg96gdDPV3Ci/p6IEZdyxF3dmSwp571E/M9rR8o768TUDyNFfDz9yIsYVAFMsoI9KghWbKQJwoLqXSEeIIGw0olmdAjW/MmLpFEqWuVi5eYkV72YxZEGB+AQ5IEFTkEVXIMaqAMMHsATeAGvxqPxbLwZ79PWlDGb2Qd/YHx+A8qen0E=</latexit>

…

Similarly state-action function                 can be approximated  
but only from trajectories which  

• started in      
• followed action

…

x1
<latexit sha1_base64="TboRg8YoSZc5Jbj8CkynNi3kMQ0=">AAAB83icbVDLSgMxFL1TX7W+qi7dBIvgqsz4QJdFNy4r2Ad0hpJJM21oJhmSjFiG/oYbF4q49Wfc+Tdm2llo64HA4Zx7uScnTDjTxnW/ndLK6tr6RnmzsrW9s7tX3T9oa5kqQltEcqm6IdaUM0FbhhlOu4miOA457YTj29zvPFKlmRQPZpLQIMZDwSJGsLGS78fYjMIoe5r2vX615tbdGdAy8QpSgwLNfvXLH0iSxlQYwrHWPc9NTJBhZRjhdFrxU00TTMZ4SHuWChxTHWSzzFN0YpUBiqSyTxg0U39vZDjWehKHdjLPqBe9XPzP66Umug4yJpLUUEHmh6KUIyNRXgAaMEWJ4RNLMFHMZkVkhBUmxtZUsSV4i19eJu2zundev7y/qDVuijrKcATHcAoeXEED7qAJLSCQwDO8wpuTOi/Ou/MxHy05xc4h/IHz+QMspJHH</latexit>

u1
<latexit sha1_base64="3IlRN+2HogG8mi0AeQBnEF4RTeY=">AAAB83icbVDLSsNAFL2pr1pfVZduBovgqiRa0WXRjcsK9gFNKJPppB06mYR5CCX0N9y4UMStP+POv3HSZqGtBwYO59zLPXPClDOlXffbKa2tb2xulbcrO7t7+wfVw6OOSowktE0SnsheiBXlTNC2ZprTXiopjkNOu+HkLve7T1QqlohHPU1pEOORYBEjWFvJ92Osx2GUmdnAG1Rrbt2dA60SryA1KNAaVL/8YUJMTIUmHCvV99xUBxmWmhFOZxXfKJpiMsEj2rdU4JiqIJtnnqEzqwxRlEj7hEZz9fdGhmOlpnFoJ/OMatnLxf+8vtHRTZAxkRpNBVkcigxHOkF5AWjIJCWaTy3BRDKbFZExlphoW1PFluAtf3mVdC7q3mX96qFRa94WdZThBE7hHDy4hibcQwvaQCCFZ3iFN8c4L86787EYLTnFzjH8gfP5AygPkcQ=</latexit>

State value function            is approximated from traj. which 
• started in      

V (x1)
<latexit sha1_base64="t9LuUuPmIDJCe9VA/HfRNrMIjFE=">AAAB+HicbVDLSsNAFL2pr1ofjbp0M1iEuimJD3RZdOOygn1AG8pkOmmHTiZhZiLW0C9x40IRt36KO//GSZuFth4YOJxzL/fM8WPOlHacb6uwsrq2vlHcLG1t7+yW7b39looSSWiTRDySHR8rypmgTc00p51YUhz6nLb98U3mtx+oVCwS93oSUy/EQ8ECRrA2Ut8ut6q9EOuRH6SP07570rcrTs2ZAS0TNycVyNHo21+9QUSSkApNOFaq6zqx9lIsNSOcTku9RNEYkzEe0q6hAodUeeks+BQdG2WAgkiaJzSaqb83UhwqNQl9M5mFVIteJv7ndRMdXHkpE3GiqSDzQ0HCkY5Q1gIaMEmJ5hNDMJHMZEVkhCUm2nRVMiW4i19eJq3TmntWu7g7r9Sv8zqKcAhHUAUXLqEOt9CAJhBI4Ble4c16sl6sd+tjPlqw8p0D+APr8wccEZK9</latexit>

Q̂(1) = r1 + �r2 + �2r3 + ...
<latexit sha1_base64="z0hsoWfvVXLewZXwF+KJ18n0Mi4="></latexit>

Q(x1,u1)
<latexit sha1_base64="u01cgza8Qz7wZhgOrc2l28CUp6M="></latexit>

Q̂(1) = r1 + �V (x2)
<latexit sha1_base64="3MV7i+J5QOWBJtKKZ+mwYod3nEQ="></latexit>

x1
<latexit sha1_base64="TboRg8YoSZc5Jbj8CkynNi3kMQ0=">AAAB83icbVDLSgMxFL1TX7W+qi7dBIvgqsz4QJdFNy4r2Ad0hpJJM21oJhmSjFiG/oYbF4q49Wfc+Tdm2llo64HA4Zx7uScnTDjTxnW/ndLK6tr6RnmzsrW9s7tX3T9oa5kqQltEcqm6IdaUM0FbhhlOu4miOA457YTj29zvPFKlmRQPZpLQIMZDwSJGsLGS78fYjMIoe5r2vX615tbdGdAy8QpSgwLNfvXLH0iSxlQYwrHWPc9NTJBhZRjhdFrxU00TTMZ4SHuWChxTHWSzzFN0YpUBiqSyTxg0U39vZDjWehKHdjLPqBe9XPzP66Umug4yJpLUUEHmh6KUIyNRXgAaMEWJ4RNLMFHMZkVkhBUmxtZUsSV4i19eJu2zundev7y/qDVuijrKcATHcAoeXEED7qAJLSCQwDO8wpuTOi/Ou/MxHy05xc4h/IHz+QMspJHH</latexit>



Czech Technical University in Prague
Faculty of Electrical Engineering, Department of Cybernetics

• Learning has been shown to be possible in simulation 
• but can I use it on a real robot?? 
• !!! millions (or billions) of real-world trials are needed



Czech Technical University in Prague
Faculty of Electrical Engineering, Department of Cybernetics

If exteroceptive sensors are not used and terrain is 
trivial, then transfer from accurate simulation is possible

[Hwangbo, ETH Zurich, Science Robotics, 2018]
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manipulator+ RGB camera

image

joint torques

Continues motion control from RGB(D)
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[Levine IJRR 2017]  https://arxiv.org/abs/1603.02199
Another option is to avoid simulation completely !!!

https://arxiv.org/abs/1603.02199
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[Levine IJRR 2017]  https://arxiv.org/abs/1603.02199

https://arxiv.org/abs/1603.02199
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Learning from expert demonstrations
• Sometimes easier to provide good trajectories  

than good rewards.
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Learning from expert demonstrations
• Sometimes easier to provide good trajectories  

than good rewards.
• Imitation learning setup

1. Collect expert trajectories 
2. Find policy
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Learning from expert demonstrations
• Sometimes easier to provide good trajectories  

than good rewards.

• Inverse reinforcement learning setup 

• Imitation learning setup (statistically inconsistent+ blackbox)
1. Collect expert trajectories 
2. Find policy
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Learning from expert demonstrations
• Sometimes easier to provide good trajectories  

than good rewards.

1. Collect expert trajectories 
2. Find reward function  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• Inverse reinforcement learning setup 

• Imitation learning setup (statistically inconsistent+ blackbox)
1. Collect expert trajectories 
2. Find policy
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Learning from expert demonstrations
• Sometimes easier to provide good trajectories  

than good rewards.

1. Collect expert trajectories 
2. Find reward function  
 

3. Solve underlying RL task

subject to:
X
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• Inverse reinforcement learning setup 

• Imitation learning setup (statistically inconsistent+ blackbox)
1. Collect expert trajectories 
2. Find policy
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• inverse reinforcement learning  
• state space: angular and euclidean position, 

velocity, acceleration  
• action space: motor torques 
• learning reward function from expert pilot

Abbeel et al. IJRR 2010
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Abbeel et al. IJRR 2010
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Silver et al. IJRR 2010

http://www.dtic.mil/dtic/tr/fulltext/u2/a525288.pdf
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Silver et al. IJRR 2010

http://www.dtic.mil/dtic/tr/fulltext/u2/a525288.pdf

input image (state) learned reward function  
(traversability map)
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Reward shaping

• Sparse rewards are easier to design correctly 
• Dense rewards are easier to learn
• Half cheetah:  

• sparse rewards (for reaching the goal position fast) 
• dense rewards (for velocity)
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• Sparse rewards are easier to design correctly 
• Dense rewards are easier to learn

Reward shaping
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• Sparse rewards are easier to design correctly 
• Dense rewards are easier to learn

Reward shaping
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Sparse rewards     0         0       0       0      10
Dense rewards      2         2       2       2        2
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• Sparse rewards are easier to design correctly 
• Dense rewards are easier to learn

Reward shaping
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Reward shaping

• Sparse rewards are easier to design correctly 
• Dense rewards are easier to learn
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<latexit sha1_base64="Tn8UrKeyWCBsQWBDOXJpIPObymk=">AAAB7HicbZBNS8NAEIYn9avWr6pHL4tF8FQSEfRY9CKeKpi20Iay2W7apZtN2J0IJfQ3ePGgiFd/kDf/jds2B219YeHhnRl25g1TKQy67rdTWlvf2Nwqb1d2dvf2D6qHRy2TZJpxnyUy0Z2QGi6F4j4KlLyTak7jUPJ2OL6d1dtPXBuRqEecpDyI6VCJSDCK1vLv+71U9Ks1t+7ORVbBK6AGhZr96ldvkLAs5gqZpMZ0PTfFIKcaBZN8WullhqeUjemQdy0qGnMT5PNlp+TMOgMSJdo+hWTu/p7IaWzMJA5tZ0xxZJZrM/O/WjfD6DrIhUoz5IotPooySTAhs8vJQGjOUE4sUKaF3ZWwEdWUoc2nYkPwlk9ehdZF3bP8cFlr3BRxlOEETuEcPLiCBtxBE3xgIOAZXuHNUc6L8+58LFpLTjFzDH/kfP4AnAmOig==</latexit><latexit sha1_base64="Tn8UrKeyWCBsQWBDOXJpIPObymk=">AAAB7HicbZBNS8NAEIYn9avWr6pHL4tF8FQSEfRY9CKeKpi20Iay2W7apZtN2J0IJfQ3ePGgiFd/kDf/jds2B219YeHhnRl25g1TKQy67rdTWlvf2Nwqb1d2dvf2D6qHRy2TZJpxnyUy0Z2QGi6F4j4KlLyTak7jUPJ2OL6d1dtPXBuRqEecpDyI6VCJSDCK1vLv+71U9Ks1t+7ORVbBK6AGhZr96ldvkLAs5gqZpMZ0PTfFIKcaBZN8WullhqeUjemQdy0qGnMT5PNlp+TMOgMSJdo+hWTu/p7IaWzMJA5tZ0xxZJZrM/O/WjfD6DrIhUoz5IotPooySTAhs8vJQGjOUE4sUKaF3ZWwEdWUoc2nYkPwlk9ehdZF3bP8cFlr3BRxlOEETuEcPLiCBtxBE3xgIOAZXuHNUc6L8+58LFpLTjFzDH/kfP4AnAmOig==</latexit><latexit sha1_base64="Tn8UrKeyWCBsQWBDOXJpIPObymk=">AAAB7HicbZBNS8NAEIYn9avWr6pHL4tF8FQSEfRY9CKeKpi20Iay2W7apZtN2J0IJfQ3ePGgiFd/kDf/jds2B219YeHhnRl25g1TKQy67rdTWlvf2Nwqb1d2dvf2D6qHRy2TZJpxnyUy0Z2QGi6F4j4KlLyTak7jUPJ2OL6d1dtPXBuRqEecpDyI6VCJSDCK1vLv+71U9Ks1t+7ORVbBK6AGhZr96ldvkLAs5gqZpMZ0PTfFIKcaBZN8WullhqeUjemQdy0qGnMT5PNlp+TMOgMSJdo+hWTu/p7IaWzMJA5tZ0xxZJZrM/O/WjfD6DrIhUoz5IotPooySTAhs8vJQGjOUE4sUKaF3ZWwEdWUoc2nYkPwlk9ehdZF3bP8cFlr3BRxlOEETuEcPLiCBtxBE3xgIOAZXuHNUc6L8+58LFpLTjFzDH/kfP4AnAmOig==</latexit><latexit sha1_base64="Tn8UrKeyWCBsQWBDOXJpIPObymk=">AAAB7HicbZBNS8NAEIYn9avWr6pHL4tF8FQSEfRY9CKeKpi20Iay2W7apZtN2J0IJfQ3ePGgiFd/kDf/jds2B219YeHhnRl25g1TKQy67rdTWlvf2Nwqb1d2dvf2D6qHRy2TZJpxnyUy0Z2QGi6F4j4KlLyTak7jUPJ2OL6d1dtPXBuRqEecpDyI6VCJSDCK1vLv+71U9Ks1t+7ORVbBK6AGhZr96ldvkLAs5gqZpMZ0PTfFIKcaBZN8WullhqeUjemQdy0qGnMT5PNlp+TMOgMSJdo+hWTu/p7IaWzMJA5tZ0xxZJZrM/O/WjfD6DrIhUoz5IotPooySTAhs8vJQGjOUE4sUKaF3ZWwEdWUoc2nYkPwlk9ehdZF3bP8cFlr3BRxlOEETuEcPLiCBtxBE3xgIOAZXuHNUc6L8+58LFpLTjFzDH/kfP4AnAmOig==</latexit>

⇡
<latexit sha1_base64="BD88AXvjS3lujLi2A79/yugFl1Y=">AAAB6nicbZBNS8NAEIYn9avWr6hHL4tF8FQSEfRY9OKxov2ANpTNdtMu3WzC7kQooT/BiwdFvPqLvPlv3LY5aOsLCw/vzLAzb5hKYdDzvp3S2vrG5lZ5u7Kzu7d/4B4etUySacabLJGJ7oTUcCkUb6JAyTup5jQOJW+H49tZvf3EtRGJesRJyoOYDpWIBKNorYdeKvpu1at5c5FV8AuoQqFG3/3qDRKWxVwhk9SYru+lGORUo2CSTyu9zPCUsjEd8q5FRWNugny+6pScWWdAokTbp5DM3d8TOY2NmcSh7YwpjsxybWb+V+tmGF0HuVBphlyxxUdRJgkmZHY3GQjNGcqJBcq0sLsSNqKaMrTpVGwI/vLJq9C6qPmW7y+r9ZsijjKcwCmcgw9XUIc7aEATGAzhGV7hzZHOi/PufCxaS04xcwx/5Hz+AE+/jc0=</latexit><latexit sha1_base64="BD88AXvjS3lujLi2A79/yugFl1Y=">AAAB6nicbZBNS8NAEIYn9avWr6hHL4tF8FQSEfRY9OKxov2ANpTNdtMu3WzC7kQooT/BiwdFvPqLvPlv3LY5aOsLCw/vzLAzb5hKYdDzvp3S2vrG5lZ5u7Kzu7d/4B4etUySacabLJGJ7oTUcCkUb6JAyTup5jQOJW+H49tZvf3EtRGJesRJyoOYDpWIBKNorYdeKvpu1at5c5FV8AuoQqFG3/3qDRKWxVwhk9SYru+lGORUo2CSTyu9zPCUsjEd8q5FRWNugny+6pScWWdAokTbp5DM3d8TOY2NmcSh7YwpjsxybWb+V+tmGF0HuVBphlyxxUdRJgkmZHY3GQjNGcqJBcq0sLsSNqKaMrTpVGwI/vLJq9C6qPmW7y+r9ZsijjKcwCmcgw9XUIc7aEATGAzhGV7hzZHOi/PufCxaS04xcwx/5Hz+AE+/jc0=</latexit><latexit sha1_base64="BD88AXvjS3lujLi2A79/yugFl1Y=">AAAB6nicbZBNS8NAEIYn9avWr6hHL4tF8FQSEfRY9OKxov2ANpTNdtMu3WzC7kQooT/BiwdFvPqLvPlv3LY5aOsLCw/vzLAzb5hKYdDzvp3S2vrG5lZ5u7Kzu7d/4B4etUySacabLJGJ7oTUcCkUb6JAyTup5jQOJW+H49tZvf3EtRGJesRJyoOYDpWIBKNorYdeKvpu1at5c5FV8AuoQqFG3/3qDRKWxVwhk9SYru+lGORUo2CSTyu9zPCUsjEd8q5FRWNugny+6pScWWdAokTbp5DM3d8TOY2NmcSh7YwpjsxybWb+V+tmGF0HuVBphlyxxUdRJgkmZHY3GQjNGcqJBcq0sLsSNqKaMrTpVGwI/vLJq9C6qPmW7y+r9ZsijjKcwCmcgw9XUIc7aEATGAzhGV7hzZHOi/PufCxaS04xcwx/5Hz+AE+/jc0=</latexit><latexit sha1_base64="BD88AXvjS3lujLi2A79/yugFl1Y=">AAAB6nicbZBNS8NAEIYn9avWr6hHL4tF8FQSEfRY9OKxov2ANpTNdtMu3WzC7kQooT/BiwdFvPqLvPlv3LY5aOsLCw/vzLAzb5hKYdDzvp3S2vrG5lZ5u7Kzu7d/4B4etUySacabLJGJ7oTUcCkUb6JAyTup5jQOJW+H49tZvf3EtRGJesRJyoOYDpWIBKNorYdeKvpu1at5c5FV8AuoQqFG3/3qDRKWxVwhk9SYru+lGORUo2CSTyu9zPCUsjEd8q5FRWNugny+6pScWWdAokTbp5DM3d8TOY2NmcSh7YwpjsxybWb+V+tmGF0HuVBphlyxxUdRJgkmZHY3GQjNGcqJBcq0sLsSNqKaMrTpVGwI/vLJq9C6qPmW7y+r9ZsijjKcwCmcgw9XUIc7aEATGAzhGV7hzZHOi/PufCxaS04xcwx/5Hz+AE+/jc0=</latexit>

⇡⇤
<latexit sha1_base64="X0qPvu1l8NdBrY3kv/+8CtLViL0=">AAAB7HicbZBNS8NAEIYnftb6VfXoZbEI4qEkIuix6MVjBdMW2lg22027dLMJuxOhhP4GLx4U8eoP8ua/cdvmoK0vLDy8M8POvGEqhUHX/XZWVtfWNzZLW+Xtnd29/crBYdMkmWbcZ4lMdDukhkuhuI8CJW+nmtM4lLwVjm6n9dYT10Yk6gHHKQ9iOlAiEoyitfxuKh7Pe5WqW3NnIsvgFVCFQo1e5avbT1gWc4VMUmM6nptikFONgkk+KXczw1PKRnTAOxYVjbkJ8tmyE3JqnT6JEm2fQjJzf0/kNDZmHIe2M6Y4NIu1qflfrZNhdB3kQqUZcsXmH0WZJJiQ6eWkLzRnKMcWKNPC7krYkGrK0OZTtiF4iycvQ/Oi5lm+v6zWb4o4SnAMJ3AGHlxBHe6gAT4wEPAMr/DmKOfFeXc+5q0rTjFzBH/kfP4AaoiOaQ==</latexit><latexit sha1_base64="X0qPvu1l8NdBrY3kv/+8CtLViL0=">AAAB7HicbZBNS8NAEIYnftb6VfXoZbEI4qEkIuix6MVjBdMW2lg22027dLMJuxOhhP4GLx4U8eoP8ua/cdvmoK0vLDy8M8POvGEqhUHX/XZWVtfWNzZLW+Xtnd29/crBYdMkmWbcZ4lMdDukhkuhuI8CJW+nmtM4lLwVjm6n9dYT10Yk6gHHKQ9iOlAiEoyitfxuKh7Pe5WqW3NnIsvgFVCFQo1e5avbT1gWc4VMUmM6nptikFONgkk+KXczw1PKRnTAOxYVjbkJ8tmyE3JqnT6JEm2fQjJzf0/kNDZmHIe2M6Y4NIu1qflfrZNhdB3kQqUZcsXmH0WZJJiQ6eWkLzRnKMcWKNPC7krYkGrK0OZTtiF4iycvQ/Oi5lm+v6zWb4o4SnAMJ3AGHlxBHe6gAT4wEPAMr/DmKOfFeXc+5q0rTjFzBH/kfP4AaoiOaQ==</latexit><latexit sha1_base64="X0qPvu1l8NdBrY3kv/+8CtLViL0=">AAAB7HicbZBNS8NAEIYnftb6VfXoZbEI4qEkIuix6MVjBdMW2lg22027dLMJuxOhhP4GLx4U8eoP8ua/cdvmoK0vLDy8M8POvGEqhUHX/XZWVtfWNzZLW+Xtnd29/crBYdMkmWbcZ4lMdDukhkuhuI8CJW+nmtM4lLwVjm6n9dYT10Yk6gHHKQ9iOlAiEoyitfxuKh7Pe5WqW3NnIsvgFVCFQo1e5avbT1gWc4VMUmM6nptikFONgkk+KXczw1PKRnTAOxYVjbkJ8tmyE3JqnT6JEm2fQjJzf0/kNDZmHIe2M6Y4NIu1qflfrZNhdB3kQqUZcsXmH0WZJJiQ6eWkLzRnKMcWKNPC7krYkGrK0OZTtiF4iycvQ/Oi5lm+v6zWb4o4SnAMJ3AGHlxBHe6gAT4wEPAMr/DmKOfFeXc+5q0rTjFzBH/kfP4AaoiOaQ==</latexit><latexit sha1_base64="X0qPvu1l8NdBrY3kv/+8CtLViL0=">AAAB7HicbZBNS8NAEIYnftb6VfXoZbEI4qEkIuix6MVjBdMW2lg22027dLMJuxOhhP4GLx4U8eoP8ua/cdvmoK0vLDy8M8POvGEqhUHX/XZWVtfWNzZLW+Xtnd29/crBYdMkmWbcZ4lMdDukhkuhuI8CJW+nmtM4lLwVjm6n9dYT10Yk6gHHKQ9iOlAiEoyitfxuKh7Pe5WqW3NnIsvgFVCFQo1e5avbT1gWc4VMUmM6nptikFONgkk+KXczw1PKRnTAOxYVjbkJ8tmyE3JqnT6JEm2fQjJzf0/kNDZmHIe2M6Y4NIu1qflfrZNhdB3kQqUZcsXmH0WZJJiQ6eWkLzRnKMcWKNPC7krYkGrK0OZTtiF4iycvQ/Oi5lm+v6zWb4o4SnAMJ3AGHlxBHe6gAT4wEPAMr/DmKOfFeXc+5q0rTjFzBH/kfP4AaoiOaQ==</latexit>

sparse rewards



Czech Technical University in Prague
Faculty of Electrical Engineering, Department of Cybernetics

Reward shaping

• Sparse rewards are easier to design correctly 
• Dense rewards are easier to learn

J⇡
<latexit sha1_base64="Tn8UrKeyWCBsQWBDOXJpIPObymk=">AAAB7HicbZBNS8NAEIYn9avWr6pHL4tF8FQSEfRY9CKeKpi20Iay2W7apZtN2J0IJfQ3ePGgiFd/kDf/jds2B219YeHhnRl25g1TKQy67rdTWlvf2Nwqb1d2dvf2D6qHRy2TZJpxnyUy0Z2QGi6F4j4KlLyTak7jUPJ2OL6d1dtPXBuRqEecpDyI6VCJSDCK1vLv+71U9Ks1t+7ORVbBK6AGhZr96ldvkLAs5gqZpMZ0PTfFIKcaBZN8WullhqeUjemQdy0qGnMT5PNlp+TMOgMSJdo+hWTu/p7IaWzMJA5tZ0xxZJZrM/O/WjfD6DrIhUoz5IotPooySTAhs8vJQGjOUE4sUKaF3ZWwEdWUoc2nYkPwlk9ehdZF3bP8cFlr3BRxlOEETuEcPLiCBtxBE3xgIOAZXuHNUc6L8+58LFpLTjFzDH/kfP4AnAmOig==</latexit><latexit sha1_base64="Tn8UrKeyWCBsQWBDOXJpIPObymk=">AAAB7HicbZBNS8NAEIYn9avWr6pHL4tF8FQSEfRY9CKeKpi20Iay2W7apZtN2J0IJfQ3ePGgiFd/kDf/jds2B219YeHhnRl25g1TKQy67rdTWlvf2Nwqb1d2dvf2D6qHRy2TZJpxnyUy0Z2QGi6F4j4KlLyTak7jUPJ2OL6d1dtPXBuRqEecpDyI6VCJSDCK1vLv+71U9Ks1t+7ORVbBK6AGhZr96ldvkLAs5gqZpMZ0PTfFIKcaBZN8WullhqeUjemQdy0qGnMT5PNlp+TMOgMSJdo+hWTu/p7IaWzMJA5tZ0xxZJZrM/O/WjfD6DrIhUoz5IotPooySTAhs8vJQGjOUE4sUKaF3ZWwEdWUoc2nYkPwlk9ehdZF3bP8cFlr3BRxlOEETuEcPLiCBtxBE3xgIOAZXuHNUc6L8+58LFpLTjFzDH/kfP4AnAmOig==</latexit><latexit sha1_base64="Tn8UrKeyWCBsQWBDOXJpIPObymk=">AAAB7HicbZBNS8NAEIYn9avWr6pHL4tF8FQSEfRY9CKeKpi20Iay2W7apZtN2J0IJfQ3ePGgiFd/kDf/jds2B219YeHhnRl25g1TKQy67rdTWlvf2Nwqb1d2dvf2D6qHRy2TZJpxnyUy0Z2QGi6F4j4KlLyTak7jUPJ2OL6d1dtPXBuRqEecpDyI6VCJSDCK1vLv+71U9Ks1t+7ORVbBK6AGhZr96ldvkLAs5gqZpMZ0PTfFIKcaBZN8WullhqeUjemQdy0qGnMT5PNlp+TMOgMSJdo+hWTu/p7IaWzMJA5tZ0xxZJZrM/O/WjfD6DrIhUoz5IotPooySTAhs8vJQGjOUE4sUKaF3ZWwEdWUoc2nYkPwlk9ehdZF3bP8cFlr3BRxlOEETuEcPLiCBtxBE3xgIOAZXuHNUc6L8+58LFpLTjFzDH/kfP4AnAmOig==</latexit><latexit sha1_base64="Tn8UrKeyWCBsQWBDOXJpIPObymk=">AAAB7HicbZBNS8NAEIYn9avWr6pHL4tF8FQSEfRY9CKeKpi20Iay2W7apZtN2J0IJfQ3ePGgiFd/kDf/jds2B219YeHhnRl25g1TKQy67rdTWlvf2Nwqb1d2dvf2D6qHRy2TZJpxnyUy0Z2QGi6F4j4KlLyTak7jUPJ2OL6d1dtPXBuRqEecpDyI6VCJSDCK1vLv+71U9Ks1t+7ORVbBK6AGhZr96ldvkLAs5gqZpMZ0PTfFIKcaBZN8WullhqeUjemQdy0qGnMT5PNlp+TMOgMSJdo+hWTu/p7IaWzMJA5tZ0xxZJZrM/O/WjfD6DrIhUoz5IotPooySTAhs8vJQGjOUE4sUKaF3ZWwEdWUoc2nYkPwlk9ehdZF3bP8cFlr3BRxlOEETuEcPLiCBtxBE3xgIOAZXuHNUc6L8+58LFpLTjFzDH/kfP4AnAmOig==</latexit>

⇡
<latexit sha1_base64="BD88AXvjS3lujLi2A79/yugFl1Y=">AAAB6nicbZBNS8NAEIYn9avWr6hHL4tF8FQSEfRY9OKxov2ANpTNdtMu3WzC7kQooT/BiwdFvPqLvPlv3LY5aOsLCw/vzLAzb5hKYdDzvp3S2vrG5lZ5u7Kzu7d/4B4etUySacabLJGJ7oTUcCkUb6JAyTup5jQOJW+H49tZvf3EtRGJesRJyoOYDpWIBKNorYdeKvpu1at5c5FV8AuoQqFG3/3qDRKWxVwhk9SYru+lGORUo2CSTyu9zPCUsjEd8q5FRWNugny+6pScWWdAokTbp5DM3d8TOY2NmcSh7YwpjsxybWb+V+tmGF0HuVBphlyxxUdRJgkmZHY3GQjNGcqJBcq0sLsSNqKaMrTpVGwI/vLJq9C6qPmW7y+r9ZsijjKcwCmcgw9XUIc7aEATGAzhGV7hzZHOi/PufCxaS04xcwx/5Hz+AE+/jc0=</latexit><latexit sha1_base64="BD88AXvjS3lujLi2A79/yugFl1Y=">AAAB6nicbZBNS8NAEIYn9avWr6hHL4tF8FQSEfRY9OKxov2ANpTNdtMu3WzC7kQooT/BiwdFvPqLvPlv3LY5aOsLCw/vzLAzb5hKYdDzvp3S2vrG5lZ5u7Kzu7d/4B4etUySacabLJGJ7oTUcCkUb6JAyTup5jQOJW+H49tZvf3EtRGJesRJyoOYDpWIBKNorYdeKvpu1at5c5FV8AuoQqFG3/3qDRKWxVwhk9SYru+lGORUo2CSTyu9zPCUsjEd8q5FRWNugny+6pScWWdAokTbp5DM3d8TOY2NmcSh7YwpjsxybWb+V+tmGF0HuVBphlyxxUdRJgkmZHY3GQjNGcqJBcq0sLsSNqKaMrTpVGwI/vLJq9C6qPmW7y+r9ZsijjKcwCmcgw9XUIc7aEATGAzhGV7hzZHOi/PufCxaS04xcwx/5Hz+AE+/jc0=</latexit><latexit sha1_base64="BD88AXvjS3lujLi2A79/yugFl1Y=">AAAB6nicbZBNS8NAEIYn9avWr6hHL4tF8FQSEfRY9OKxov2ANpTNdtMu3WzC7kQooT/BiwdFvPqLvPlv3LY5aOsLCw/vzLAzb5hKYdDzvp3S2vrG5lZ5u7Kzu7d/4B4etUySacabLJGJ7oTUcCkUb6JAyTup5jQOJW+H49tZvf3EtRGJesRJyoOYDpWIBKNorYdeKvpu1at5c5FV8AuoQqFG3/3qDRKWxVwhk9SYru+lGORUo2CSTyu9zPCUsjEd8q5FRWNugny+6pScWWdAokTbp5DM3d8TOY2NmcSh7YwpjsxybWb+V+tmGF0HuVBphlyxxUdRJgkmZHY3GQjNGcqJBcq0sLsSNqKaMrTpVGwI/vLJq9C6qPmW7y+r9ZsijjKcwCmcgw9XUIc7aEATGAzhGV7hzZHOi/PufCxaS04xcwx/5Hz+AE+/jc0=</latexit><latexit sha1_base64="BD88AXvjS3lujLi2A79/yugFl1Y=">AAAB6nicbZBNS8NAEIYn9avWr6hHL4tF8FQSEfRY9OKxov2ANpTNdtMu3WzC7kQooT/BiwdFvPqLvPlv3LY5aOsLCw/vzLAzb5hKYdDzvp3S2vrG5lZ5u7Kzu7d/4B4etUySacabLJGJ7oTUcCkUb6JAyTup5jQOJW+H49tZvf3EtRGJesRJyoOYDpWIBKNorYdeKvpu1at5c5FV8AuoQqFG3/3qDRKWxVwhk9SYru+lGORUo2CSTyu9zPCUsjEd8q5FRWNugny+6pScWWdAokTbp5DM3d8TOY2NmcSh7YwpjsxybWb+V+tmGF0HuVBphlyxxUdRJgkmZHY3GQjNGcqJBcq0sLsSNqKaMrTpVGwI/vLJq9C6qPmW7y+r9ZsijjKcwCmcgw9XUIc7aEATGAzhGV7hzZHOi/PufCxaS04xcwx/5Hz+AE+/jc0=</latexit>

⇡⇤
<latexit sha1_base64="X0qPvu1l8NdBrY3kv/+8CtLViL0=">AAAB7HicbZBNS8NAEIYnftb6VfXoZbEI4qEkIuix6MVjBdMW2lg22027dLMJuxOhhP4GLx4U8eoP8ua/cdvmoK0vLDy8M8POvGEqhUHX/XZWVtfWNzZLW+Xtnd29/crBYdMkmWbcZ4lMdDukhkuhuI8CJW+nmtM4lLwVjm6n9dYT10Yk6gHHKQ9iOlAiEoyitfxuKh7Pe5WqW3NnIsvgFVCFQo1e5avbT1gWc4VMUmM6nptikFONgkk+KXczw1PKRnTAOxYVjbkJ8tmyE3JqnT6JEm2fQjJzf0/kNDZmHIe2M6Y4NIu1qflfrZNhdB3kQqUZcsXmH0WZJJiQ6eWkLzRnKMcWKNPC7krYkGrK0OZTtiF4iycvQ/Oi5lm+v6zWb4o4SnAMJ3AGHlxBHe6gAT4wEPAMr/DmKOfFeXc+5q0rTjFzBH/kfP4AaoiOaQ==</latexit><latexit sha1_base64="X0qPvu1l8NdBrY3kv/+8CtLViL0=">AAAB7HicbZBNS8NAEIYnftb6VfXoZbEI4qEkIuix6MVjBdMW2lg22027dLMJuxOhhP4GLx4U8eoP8ua/cdvmoK0vLDy8M8POvGEqhUHX/XZWVtfWNzZLW+Xtnd29/crBYdMkmWbcZ4lMdDukhkuhuI8CJW+nmtM4lLwVjm6n9dYT10Yk6gHHKQ9iOlAiEoyitfxuKh7Pe5WqW3NnIsvgFVCFQo1e5avbT1gWc4VMUmM6nptikFONgkk+KXczw1PKRnTAOxYVjbkJ8tmyE3JqnT6JEm2fQjJzf0/kNDZmHIe2M6Y4NIu1qflfrZNhdB3kQqUZcsXmH0WZJJiQ6eWkLzRnKMcWKNPC7krYkGrK0OZTtiF4iycvQ/Oi5lm+v6zWb4o4SnAMJ3AGHlxBHe6gAT4wEPAMr/DmKOfFeXc+5q0rTjFzBH/kfP4AaoiOaQ==</latexit><latexit sha1_base64="X0qPvu1l8NdBrY3kv/+8CtLViL0=">AAAB7HicbZBNS8NAEIYnftb6VfXoZbEI4qEkIuix6MVjBdMW2lg22027dLMJuxOhhP4GLx4U8eoP8ua/cdvmoK0vLDy8M8POvGEqhUHX/XZWVtfWNzZLW+Xtnd29/crBYdMkmWbcZ4lMdDukhkuhuI8CJW+nmtM4lLwVjm6n9dYT10Yk6gHHKQ9iOlAiEoyitfxuKh7Pe5WqW3NnIsvgFVCFQo1e5avbT1gWc4VMUmM6nptikFONgkk+KXczw1PKRnTAOxYVjbkJ8tmyE3JqnT6JEm2fQjJzf0/kNDZmHIe2M6Y4NIu1qflfrZNhdB3kQqUZcsXmH0WZJJiQ6eWkLzRnKMcWKNPC7krYkGrK0OZTtiF4iycvQ/Oi5lm+v6zWb4o4SnAMJ3AGHlxBHe6gAT4wEPAMr/DmKOfFeXc+5q0rTjFzBH/kfP4AaoiOaQ==</latexit><latexit sha1_base64="X0qPvu1l8NdBrY3kv/+8CtLViL0=">AAAB7HicbZBNS8NAEIYnftb6VfXoZbEI4qEkIuix6MVjBdMW2lg22027dLMJuxOhhP4GLx4U8eoP8ua/cdvmoK0vLDy8M8POvGEqhUHX/XZWVtfWNzZLW+Xtnd29/crBYdMkmWbcZ4lMdDukhkuhuI8CJW+nmtM4lLwVjm6n9dYT10Yk6gHHKQ9iOlAiEoyitfxuKh7Pe5WqW3NnIsvgFVCFQo1e5avbT1gWc4VMUmM6nptikFONgkk+KXczw1PKRnTAOxYVjbkJ8tmyE3JqnT6JEm2fQjJzf0/kNDZmHIe2M6Y4NIu1qflfrZNhdB3kQqUZcsXmH0WZJJiQ6eWkLzRnKMcWKNPC7krYkGrK0OZTtiF4iycvQ/Oi5lm+v6zWb4o4SnAMJ3AGHlxBHe6gAT4wEPAMr/DmKOfFeXc+5q0rTjFzBH/kfP4AaoiOaQ==</latexit>

well-chosen dense rewards
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Reward shaping

• Sparse rewards are easier to design correctly 
• Dense rewards are easier to learn

J⇡
<latexit sha1_base64="Tn8UrKeyWCBsQWBDOXJpIPObymk=">AAAB7HicbZBNS8NAEIYn9avWr6pHL4tF8FQSEfRY9CKeKpi20Iay2W7apZtN2J0IJfQ3ePGgiFd/kDf/jds2B219YeHhnRl25g1TKQy67rdTWlvf2Nwqb1d2dvf2D6qHRy2TZJpxnyUy0Z2QGi6F4j4KlLyTak7jUPJ2OL6d1dtPXBuRqEecpDyI6VCJSDCK1vLv+71U9Ks1t+7ORVbBK6AGhZr96ldvkLAs5gqZpMZ0PTfFIKcaBZN8WullhqeUjemQdy0qGnMT5PNlp+TMOgMSJdo+hWTu/p7IaWzMJA5tZ0xxZJZrM/O/WjfD6DrIhUoz5IotPooySTAhs8vJQGjOUE4sUKaF3ZWwEdWUoc2nYkPwlk9ehdZF3bP8cFlr3BRxlOEETuEcPLiCBtxBE3xgIOAZXuHNUc6L8+58LFpLTjFzDH/kfP4AnAmOig==</latexit><latexit sha1_base64="Tn8UrKeyWCBsQWBDOXJpIPObymk=">AAAB7HicbZBNS8NAEIYn9avWr6pHL4tF8FQSEfRY9CKeKpi20Iay2W7apZtN2J0IJfQ3ePGgiFd/kDf/jds2B219YeHhnRl25g1TKQy67rdTWlvf2Nwqb1d2dvf2D6qHRy2TZJpxnyUy0Z2QGi6F4j4KlLyTak7jUPJ2OL6d1dtPXBuRqEecpDyI6VCJSDCK1vLv+71U9Ks1t+7ORVbBK6AGhZr96ldvkLAs5gqZpMZ0PTfFIKcaBZN8WullhqeUjemQdy0qGnMT5PNlp+TMOgMSJdo+hWTu/p7IaWzMJA5tZ0xxZJZrM/O/WjfD6DrIhUoz5IotPooySTAhs8vJQGjOUE4sUKaF3ZWwEdWUoc2nYkPwlk9ehdZF3bP8cFlr3BRxlOEETuEcPLiCBtxBE3xgIOAZXuHNUc6L8+58LFpLTjFzDH/kfP4AnAmOig==</latexit><latexit sha1_base64="Tn8UrKeyWCBsQWBDOXJpIPObymk=">AAAB7HicbZBNS8NAEIYn9avWr6pHL4tF8FQSEfRY9CKeKpi20Iay2W7apZtN2J0IJfQ3ePGgiFd/kDf/jds2B219YeHhnRl25g1TKQy67rdTWlvf2Nwqb1d2dvf2D6qHRy2TZJpxnyUy0Z2QGi6F4j4KlLyTak7jUPJ2OL6d1dtPXBuRqEecpDyI6VCJSDCK1vLv+71U9Ks1t+7ORVbBK6AGhZr96ldvkLAs5gqZpMZ0PTfFIKcaBZN8WullhqeUjemQdy0qGnMT5PNlp+TMOgMSJdo+hWTu/p7IaWzMJA5tZ0xxZJZrM/O/WjfD6DrIhUoz5IotPooySTAhs8vJQGjOUE4sUKaF3ZWwEdWUoc2nYkPwlk9ehdZF3bP8cFlr3BRxlOEETuEcPLiCBtxBE3xgIOAZXuHNUc6L8+58LFpLTjFzDH/kfP4AnAmOig==</latexit><latexit sha1_base64="Tn8UrKeyWCBsQWBDOXJpIPObymk=">AAAB7HicbZBNS8NAEIYn9avWr6pHL4tF8FQSEfRY9CKeKpi20Iay2W7apZtN2J0IJfQ3ePGgiFd/kDf/jds2B219YeHhnRl25g1TKQy67rdTWlvf2Nwqb1d2dvf2D6qHRy2TZJpxnyUy0Z2QGi6F4j4KlLyTak7jUPJ2OL6d1dtPXBuRqEecpDyI6VCJSDCK1vLv+71U9Ks1t+7ORVbBK6AGhZr96ldvkLAs5gqZpMZ0PTfFIKcaBZN8WullhqeUjemQdy0qGnMT5PNlp+TMOgMSJdo+hWTu/p7IaWzMJA5tZ0xxZJZrM/O/WjfD6DrIhUoz5IotPooySTAhs8vJQGjOUE4sUKaF3ZWwEdWUoc2nYkPwlk9ehdZF3bP8cFlr3BRxlOEETuEcPLiCBtxBE3xgIOAZXuHNUc6L8+58LFpLTjFzDH/kfP4AnAmOig==</latexit>

⇡
<latexit sha1_base64="BD88AXvjS3lujLi2A79/yugFl1Y=">AAAB6nicbZBNS8NAEIYn9avWr6hHL4tF8FQSEfRY9OKxov2ANpTNdtMu3WzC7kQooT/BiwdFvPqLvPlv3LY5aOsLCw/vzLAzb5hKYdDzvp3S2vrG5lZ5u7Kzu7d/4B4etUySacabLJGJ7oTUcCkUb6JAyTup5jQOJW+H49tZvf3EtRGJesRJyoOYDpWIBKNorYdeKvpu1at5c5FV8AuoQqFG3/3qDRKWxVwhk9SYru+lGORUo2CSTyu9zPCUsjEd8q5FRWNugny+6pScWWdAokTbp5DM3d8TOY2NmcSh7YwpjsxybWb+V+tmGF0HuVBphlyxxUdRJgkmZHY3GQjNGcqJBcq0sLsSNqKaMrTpVGwI/vLJq9C6qPmW7y+r9ZsijjKcwCmcgw9XUIc7aEATGAzhGV7hzZHOi/PufCxaS04xcwx/5Hz+AE+/jc0=</latexit><latexit sha1_base64="BD88AXvjS3lujLi2A79/yugFl1Y=">AAAB6nicbZBNS8NAEIYn9avWr6hHL4tF8FQSEfRY9OKxov2ANpTNdtMu3WzC7kQooT/BiwdFvPqLvPlv3LY5aOsLCw/vzLAzb5hKYdDzvp3S2vrG5lZ5u7Kzu7d/4B4etUySacabLJGJ7oTUcCkUb6JAyTup5jQOJW+H49tZvf3EtRGJesRJyoOYDpWIBKNorYdeKvpu1at5c5FV8AuoQqFG3/3qDRKWxVwhk9SYru+lGORUo2CSTyu9zPCUsjEd8q5FRWNugny+6pScWWdAokTbp5DM3d8TOY2NmcSh7YwpjsxybWb+V+tmGF0HuVBphlyxxUdRJgkmZHY3GQjNGcqJBcq0sLsSNqKaMrTpVGwI/vLJq9C6qPmW7y+r9ZsijjKcwCmcgw9XUIc7aEATGAzhGV7hzZHOi/PufCxaS04xcwx/5Hz+AE+/jc0=</latexit><latexit sha1_base64="BD88AXvjS3lujLi2A79/yugFl1Y=">AAAB6nicbZBNS8NAEIYn9avWr6hHL4tF8FQSEfRY9OKxov2ANpTNdtMu3WzC7kQooT/BiwdFvPqLvPlv3LY5aOsLCw/vzLAzb5hKYdDzvp3S2vrG5lZ5u7Kzu7d/4B4etUySacabLJGJ7oTUcCkUb6JAyTup5jQOJW+H49tZvf3EtRGJesRJyoOYDpWIBKNorYdeKvpu1at5c5FV8AuoQqFG3/3qDRKWxVwhk9SYru+lGORUo2CSTyu9zPCUsjEd8q5FRWNugny+6pScWWdAokTbp5DM3d8TOY2NmcSh7YwpjsxybWb+V+tmGF0HuVBphlyxxUdRJgkmZHY3GQjNGcqJBcq0sLsSNqKaMrTpVGwI/vLJq9C6qPmW7y+r9ZsijjKcwCmcgw9XUIc7aEATGAzhGV7hzZHOi/PufCxaS04xcwx/5Hz+AE+/jc0=</latexit><latexit sha1_base64="BD88AXvjS3lujLi2A79/yugFl1Y=">AAAB6nicbZBNS8NAEIYn9avWr6hHL4tF8FQSEfRY9OKxov2ANpTNdtMu3WzC7kQooT/BiwdFvPqLvPlv3LY5aOsLCw/vzLAzb5hKYdDzvp3S2vrG5lZ5u7Kzu7d/4B4etUySacabLJGJ7oTUcCkUb6JAyTup5jQOJW+H49tZvf3EtRGJesRJyoOYDpWIBKNorYdeKvpu1at5c5FV8AuoQqFG3/3qDRKWxVwhk9SYru+lGORUo2CSTyu9zPCUsjEd8q5FRWNugny+6pScWWdAokTbp5DM3d8TOY2NmcSh7YwpjsxybWb+V+tmGF0HuVBphlyxxUdRJgkmZHY3GQjNGcqJBcq0sLsSNqKaMrTpVGwI/vLJq9C6qPmW7y+r9ZsijjKcwCmcgw9XUIc7aEATGAzhGV7hzZHOi/PufCxaS04xcwx/5Hz+AE+/jc0=</latexit>

⇡⇤
<latexit sha1_base64="X0qPvu1l8NdBrY3kv/+8CtLViL0=">AAAB7HicbZBNS8NAEIYnftb6VfXoZbEI4qEkIuix6MVjBdMW2lg22027dLMJuxOhhP4GLx4U8eoP8ua/cdvmoK0vLDy8M8POvGEqhUHX/XZWVtfWNzZLW+Xtnd29/crBYdMkmWbcZ4lMdDukhkuhuI8CJW+nmtM4lLwVjm6n9dYT10Yk6gHHKQ9iOlAiEoyitfxuKh7Pe5WqW3NnIsvgFVCFQo1e5avbT1gWc4VMUmM6nptikFONgkk+KXczw1PKRnTAOxYVjbkJ8tmyE3JqnT6JEm2fQjJzf0/kNDZmHIe2M6Y4NIu1qflfrZNhdB3kQqUZcsXmH0WZJJiQ6eWkLzRnKMcWKNPC7krYkGrK0OZTtiF4iycvQ/Oi5lm+v6zWb4o4SnAMJ3AGHlxBHe6gAT4wEPAMr/DmKOfFeXc+5q0rTjFzBH/kfP4AaoiOaQ==</latexit><latexit sha1_base64="X0qPvu1l8NdBrY3kv/+8CtLViL0=">AAAB7HicbZBNS8NAEIYnftb6VfXoZbEI4qEkIuix6MVjBdMW2lg22027dLMJuxOhhP4GLx4U8eoP8ua/cdvmoK0vLDy8M8POvGEqhUHX/XZWVtfWNzZLW+Xtnd29/crBYdMkmWbcZ4lMdDukhkuhuI8CJW+nmtM4lLwVjm6n9dYT10Yk6gHHKQ9iOlAiEoyitfxuKh7Pe5WqW3NnIsvgFVCFQo1e5avbT1gWc4VMUmM6nptikFONgkk+KXczw1PKRnTAOxYVjbkJ8tmyE3JqnT6JEm2fQjJzf0/kNDZmHIe2M6Y4NIu1qflfrZNhdB3kQqUZcsXmH0WZJJiQ6eWkLzRnKMcWKNPC7krYkGrK0OZTtiF4iycvQ/Oi5lm+v6zWb4o4SnAMJ3AGHlxBHe6gAT4wEPAMr/DmKOfFeXc+5q0rTjFzBH/kfP4AaoiOaQ==</latexit><latexit sha1_base64="X0qPvu1l8NdBrY3kv/+8CtLViL0=">AAAB7HicbZBNS8NAEIYnftb6VfXoZbEI4qEkIuix6MVjBdMW2lg22027dLMJuxOhhP4GLx4U8eoP8ua/cdvmoK0vLDy8M8POvGEqhUHX/XZWVtfWNzZLW+Xtnd29/crBYdMkmWbcZ4lMdDukhkuhuI8CJW+nmtM4lLwVjm6n9dYT10Yk6gHHKQ9iOlAiEoyitfxuKh7Pe5WqW3NnIsvgFVCFQo1e5avbT1gWc4VMUmM6nptikFONgkk+KXczw1PKRnTAOxYVjbkJ8tmyE3JqnT6JEm2fQjJzf0/kNDZmHIe2M6Y4NIu1qflfrZNhdB3kQqUZcsXmH0WZJJiQ6eWkLzRnKMcWKNPC7krYkGrK0OZTtiF4iycvQ/Oi5lm+v6zWb4o4SnAMJ3AGHlxBHe6gAT4wEPAMr/DmKOfFeXc+5q0rTjFzBH/kfP4AaoiOaQ==</latexit><latexit sha1_base64="X0qPvu1l8NdBrY3kv/+8CtLViL0=">AAAB7HicbZBNS8NAEIYnftb6VfXoZbEI4qEkIuix6MVjBdMW2lg22027dLMJuxOhhP4GLx4U8eoP8ua/cdvmoK0vLDy8M8POvGEqhUHX/XZWVtfWNzZLW+Xtnd29/crBYdMkmWbcZ4lMdDukhkuhuI8CJW+nmtM4lLwVjm6n9dYT10Yk6gHHKQ9iOlAiEoyitfxuKh7Pe5WqW3NnIsvgFVCFQo1e5avbT1gWc4VMUmM6nptikFONgkk+KXczw1PKRnTAOxYVjbkJ8tmyE3JqnT6JEm2fQjJzf0/kNDZmHIe2M6Y4NIu1qflfrZNhdB3kQqUZcsXmH0WZJJiQ6eWkLzRnKMcWKNPC7krYkGrK0OZTtiF4iycvQ/Oi5lm+v6zWb4o4SnAMJ3AGHlxBHe6gAT4wEPAMr/DmKOfFeXc+5q0rTjFzBH/kfP4AaoiOaQ==</latexit>

badly chosen dense rewards
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• Dense reward allows to easier find the corresponding  
action but they are more likely to introduce bias.

• Boat racing (bad dense rewards):  
• sparse rewards (winning the race) 
• dense rewards (collecting powerups, checkpoints …)

Reward shaping
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• Resulting policy is deterministic => exploration 
unclear=> eps-greedy exploration is often inefficient 

• Handling continuous action-space is complicated 
(requires online optimization during inference) 

• Learning of value based methods minimize estimation 
error of Q-function (does not directly maximize policy 
rewards).

Disadvantages of value-based methods
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Taxonomy of policy search methods

• Direct policy search (primal task) 
⇡⇤ = argmax

⇡
J⇡e.g. gradient ascent for

⇡⇤ = argmax
a

Q(x,a)

e.g. search for Q(x,a) = r(x,a,x0) + �max
a0

Q(x0,a0)

• Value-based methods (dual function [Kober, 2013])

Episodic REPS [Peters, 2010]
PILCO [Deisenroth, ICML 2011]
Actor-critic (e.g. DPG [Silver,JMLR 2014])

Deep Q-learning (e.g. [Mnih,Nature 2015])gr
ey

 z
on

e
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Primal task

• Let us consider episodic setting: 
• Initialize in some start state 
• Run the policy in the envornment 
• Generate trajectory 
• Obtain reward for the generated trajectory 
• Update policy parameters

⌧
<latexit sha1_base64="K9QiBpPqmpUqentF9tF1hIqnnBY=">AAAB63icbVBNS8NAEJ3Ur1q/qh69BIvgqSR+oMeiF48VrC20oWy2m3bp7ibsToQS+he8eFDEq3/Im//GTZuDtj4YeLw3w8y8MBHcoOd9O6WV1bX1jfJmZWt7Z3evun/waOJUU9aisYh1JySGCa5YCzkK1kk0IzIUrB2Ob3O//cS04bF6wEnCAkmGikecEsylHpK0X615dW8Gd5n4BalBgWa/+tUbxDSVTCEVxJiu7yUYZEQjp4JNK73UsITQMRmyrqWKSGaCbHbr1D2xysCNYm1LoTtTf09kRBozkaHtlARHZtHLxf+8borRdZBxlaTIFJ0vilLhYuzmj7sDrhlFMbGEUM3trS4dEU0o2ngqNgR/8eVl8nhW98/rl/cXtcZNEUcZjuAYTsGHK2jAHTShBRRG8Ayv8OZI58V5dz7mrSWnmDmEP3A+fwAjcY5P</latexit>

r(⌧)
<latexit sha1_base64="8l5HHddzgbgKvTLjtOGH06ju1c0=">AAAB7nicbVDLSgNBEOz1GeMr6tHLYBDiJez6QI9BLx4jmAckS5idzCZDZmeXmV4hLPkILx4U8er3ePNvnCR70MSChqKqm+6uIJHCoOt+Oyura+sbm4Wt4vbO7t5+6eCwaeJUM95gsYx1O6CGS6F4AwVK3k40p1EgeSsY3U391hPXRsTqEccJ9yM6UCIUjKKVWrrSRZqe9Uplt+rOQJaJl5My5Kj3Sl/dfszSiCtkkhrT8dwE/YxqFEzySbGbGp5QNqID3rFU0YgbP5udOyGnVumTMNa2FJKZ+nsio5Ex4yiwnRHFoVn0puJ/XifF8MbPhEpS5IrNF4WpJBiT6e+kLzRnKMeWUKaFvZWwIdWUoU2oaEPwFl9eJs3zqndRvXq4LNdu8zgKcAwnUAEPrqEG91CHBjAYwTO8wpuTOC/Ou/Mxb11x8pkj+APn8we+6o8w</latexit>

Example: 
• Throwing a ball into a basket (what is suitable reward?)

⇡✓(u|x)
<latexit sha1_base64="c8O3efg+MUJgIKsgdHTS34nc+gA="></latexit>

x
<latexit sha1_base64="/hJkej/HRouyoVE0EC7jObVO/D4="></latexit>

u
<latexit sha1_base64="4d5APMdnY1Eq/s+yFYET2kYm6N0="></latexit>

⇡✓(u|x) = f(x, ✓)
<latexit sha1_base64="GDYimK8ROIOyLWyeBDR+DkKkE24="></latexit>

Stochastic policy for  
discrete control:
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Primal task - episodic setting

1. Randomly initialize policy ⇡✓
<latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit>
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1. Randomly initialize policy  
2. Collect trajectories     with policy⌧

<latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit><latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit><latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit><latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit>

⇡✓
<latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit>

⇡✓
<latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit>

Primal task - episodic setting
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1. Randomly initialize policy  
2. Collect trajectories     with policy 
3. Denote             probability of     occurs when following

⌧
<latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit><latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit><latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit><latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit>

⌧
<latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit><latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit><latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit><latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit>

⇡✓
<latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit>

⇡✓
<latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit>

p(⌧ |⇡✓)
<latexit sha1_base64="n6DuZwm56aSIBKETv4M1gTrF9hw="></latexit><latexit sha1_base64="n6DuZwm56aSIBKETv4M1gTrF9hw="></latexit><latexit sha1_base64="n6DuZwm56aSIBKETv4M1gTrF9hw="></latexit><latexit sha1_base64="n6DuZwm56aSIBKETv4M1gTrF9hw="></latexit>

⇡✓
<latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit>

Primal task - episodic setting
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1. Randomly initialize policy  
2. Collect trajectories     with policy 
3. Denote             probability of     occurs when following 
4. Define criterion  
 
 

⌧
<latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit><latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit><latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit><latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit>

⌧
<latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit><latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit><latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit><latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit>

⇡✓
<latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit>

⇡✓
<latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit>

p(⌧ |⇡✓)
<latexit sha1_base64="n6DuZwm56aSIBKETv4M1gTrF9hw="></latexit><latexit sha1_base64="n6DuZwm56aSIBKETv4M1gTrF9hw="></latexit><latexit sha1_base64="n6DuZwm56aSIBKETv4M1gTrF9hw="></latexit><latexit sha1_base64="n6DuZwm56aSIBKETv4M1gTrF9hw="></latexit>

J(✓) = E⌧⇠p(⌧ |⇡✓){r(⌧)} =

Z

⌧2T

p(⌧ |⇡✓)r(⌧) d⌧

<latexit sha1_base64="Wl4eKfSqtcgUGmtne9wZ+jpXCD8="></latexit><latexit sha1_base64="Wl4eKfSqtcgUGmtne9wZ+jpXCD8="></latexit><latexit sha1_base64="Wl4eKfSqtcgUGmtne9wZ+jpXCD8="></latexit><latexit sha1_base64="Wl4eKfSqtcgUGmtne9wZ+jpXCD8="></latexit>

⇡✓
<latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit>

⇡ 1

N

NX

i=1

r(⌧i)
<latexit sha1_base64="uLBP4HO3IgPluBhFAr1C40R3Jqs="></latexit><latexit sha1_base64="uLBP4HO3IgPluBhFAr1C40R3Jqs="></latexit><latexit sha1_base64="uLBP4HO3IgPluBhFAr1C40R3Jqs="></latexit><latexit sha1_base64="uLBP4HO3IgPluBhFAr1C40R3Jqs="></latexit>

Primal task - episodic setting
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1. Randomly initialize policy  
2. Collect trajectories     with policy 
3. Denote             probability of     occurs when following 
4. Define criterion  
 
 

5. Optimize criterion (e.g. gradient descent)  
 

6. Repeat from 2

⌧
<latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit><latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit><latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit><latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit>

⌧
<latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit><latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit><latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit><latexit sha1_base64="WEuQaxy+80wPLN8+yAQ+jjl+yUs="></latexit>

⇡✓
<latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit>

⇡✓
<latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit>

p(⌧ |⇡✓)
<latexit sha1_base64="n6DuZwm56aSIBKETv4M1gTrF9hw="></latexit><latexit sha1_base64="n6DuZwm56aSIBKETv4M1gTrF9hw="></latexit><latexit sha1_base64="n6DuZwm56aSIBKETv4M1gTrF9hw="></latexit><latexit sha1_base64="n6DuZwm56aSIBKETv4M1gTrF9hw="></latexit>

J(✓) = E⌧⇠p(⌧ |⇡✓){r(⌧)} =

Z

⌧2T

p(⌧ |⇡✓)r(⌧) d⌧

<latexit sha1_base64="Wl4eKfSqtcgUGmtne9wZ+jpXCD8="></latexit><latexit sha1_base64="Wl4eKfSqtcgUGmtne9wZ+jpXCD8="></latexit><latexit sha1_base64="Wl4eKfSqtcgUGmtne9wZ+jpXCD8="></latexit><latexit sha1_base64="Wl4eKfSqtcgUGmtne9wZ+jpXCD8="></latexit>

✓⇤ = argmin
✓

J(✓)
<latexit sha1_base64="MHZL6RINfNuAwP5gfOyDm17Uljg="></latexit><latexit sha1_base64="MHZL6RINfNuAwP5gfOyDm17Uljg="></latexit><latexit sha1_base64="MHZL6RINfNuAwP5gfOyDm17Uljg="></latexit><latexit sha1_base64="MHZL6RINfNuAwP5gfOyDm17Uljg="></latexit>

⇡✓
<latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit><latexit sha1_base64="sDsHPwYdPNM81X2VGc4nTJ+gQGw="></latexit>

⇡ 1

N

NX

i=1

r(⌧i)
<latexit sha1_base64="uLBP4HO3IgPluBhFAr1C40R3Jqs="></latexit><latexit sha1_base64="uLBP4HO3IgPluBhFAr1C40R3Jqs="></latexit><latexit sha1_base64="uLBP4HO3IgPluBhFAr1C40R3Jqs="></latexit><latexit sha1_base64="uLBP4HO3IgPluBhFAr1C40R3Jqs="></latexit>

Primal task - episodic setting
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J(✓) = E⌧⇠p(⌧ |⇡✓){r(⌧)} =

Z

⌧2T

p(⌧ |⇡✓)r(⌧) d⌧

<latexit sha1_base64="Wl4eKfSqtcgUGmtne9wZ+jpXCD8="></latexit><latexit sha1_base64="Wl4eKfSqtcgUGmtne9wZ+jpXCD8="></latexit><latexit sha1_base64="Wl4eKfSqtcgUGmtne9wZ+jpXCD8="></latexit><latexit sha1_base64="Wl4eKfSqtcgUGmtne9wZ+jpXCD8="></latexit>

✓⇤ = argmin
✓

J(✓)
<latexit sha1_base64="MHZL6RINfNuAwP5gfOyDm17Uljg="></latexit><latexit sha1_base64="MHZL6RINfNuAwP5gfOyDm17Uljg="></latexit><latexit sha1_base64="MHZL6RINfNuAwP5gfOyDm17Uljg="></latexit><latexit sha1_base64="MHZL6RINfNuAwP5gfOyDm17Uljg="></latexit>

⇡ 1

N

NX

i=1

r(⌧i)
<latexit sha1_base64="uLBP4HO3IgPluBhFAr1C40R3Jqs="></latexit><latexit sha1_base64="uLBP4HO3IgPluBhFAr1C40R3Jqs="></latexit><latexit sha1_base64="uLBP4HO3IgPluBhFAr1C40R3Jqs="></latexit><latexit sha1_base64="uLBP4HO3IgPluBhFAr1C40R3Jqs="></latexit>

J(✓ +�✓i) = J(✓) +
@J(✓)

@✓

>
�✓i

<latexit sha1_base64="C69twnuMzzPf+MFPulLmT9pL8BM="></latexit><latexit sha1_base64="C69twnuMzzPf+MFPulLmT9pL8BM="></latexit><latexit sha1_base64="C69twnuMzzPf+MFPulLmT9pL8BM="></latexit><latexit sha1_base64="C69twnuMzzPf+MFPulLmT9pL8BM="></latexit>

• What do I need for gradient descent optimization? @J(✓)

@✓

>

<latexit sha1_base64="0E8ZAYoisW5uaXIuUwL7gT+ULsc="></latexit><latexit sha1_base64="0E8ZAYoisW5uaXIuUwL7gT+ULsc="></latexit><latexit sha1_base64="0E8ZAYoisW5uaXIuUwL7gT+ULsc="></latexit><latexit sha1_base64="0E8ZAYoisW5uaXIuUwL7gT+ULsc="></latexit>

• Perturb parameters  by        and estimate J(✓ +�✓i)
<latexit sha1_base64="WlMY5aAKrctQZOQ/XcN5C9h9asg="></latexit><latexit sha1_base64="WlMY5aAKrctQZOQ/XcN5C9h9asg="></latexit><latexit sha1_base64="WlMY5aAKrctQZOQ/XcN5C9h9asg="></latexit><latexit sha1_base64="WlMY5aAKrctQZOQ/XcN5C9h9asg="></latexit>

�✓i
<latexit sha1_base64="FBe536VwM1NukY0kLQd2ohteMjk="></latexit><latexit sha1_base64="FBe536VwM1NukY0kLQd2ohteMjk="></latexit><latexit sha1_base64="FBe536VwM1NukY0kLQd2ohteMjk="></latexit><latexit sha1_base64="FBe536VwM1NukY0kLQd2ohteMjk="></latexit>

�✓>i
@J(✓)

@✓
= J(✓)� J(✓ +�✓i)

<latexit sha1_base64="Ac6Srhf3QOmFL7950k0ZzNeZg90="></latexit><latexit sha1_base64="Ac6Srhf3QOmFL7950k0ZzNeZg90="></latexit><latexit sha1_base64="Ac6Srhf3QOmFL7950k0ZzNeZg90="></latexit><latexit sha1_base64="Ac6Srhf3QOmFL7950k0ZzNeZg90="></latexit>

Primal task - episodic setting
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J(✓) = E⌧⇠p(⌧ |⇡✓){r(⌧)} =

Z

⌧2T

p(⌧ |⇡✓)r(⌧) d⌧

<latexit sha1_base64="Wl4eKfSqtcgUGmtne9wZ+jpXCD8="></latexit><latexit sha1_base64="Wl4eKfSqtcgUGmtne9wZ+jpXCD8="></latexit><latexit sha1_base64="Wl4eKfSqtcgUGmtne9wZ+jpXCD8="></latexit><latexit sha1_base64="Wl4eKfSqtcgUGmtne9wZ+jpXCD8="></latexit>

✓⇤ = argmin
✓

J(✓)
<latexit sha1_base64="MHZL6RINfNuAwP5gfOyDm17Uljg="></latexit><latexit sha1_base64="MHZL6RINfNuAwP5gfOyDm17Uljg="></latexit><latexit sha1_base64="MHZL6RINfNuAwP5gfOyDm17Uljg="></latexit><latexit sha1_base64="MHZL6RINfNuAwP5gfOyDm17Uljg="></latexit>

⇡ 1

N

NX

i=1

r(⌧i)
<latexit sha1_base64="uLBP4HO3IgPluBhFAr1C40R3Jqs="></latexit><latexit sha1_base64="uLBP4HO3IgPluBhFAr1C40R3Jqs="></latexit><latexit sha1_base64="uLBP4HO3IgPluBhFAr1C40R3Jqs="></latexit><latexit sha1_base64="uLBP4HO3IgPluBhFAr1C40R3Jqs="></latexit>

J(✓ +�✓i) = J(✓) +
@J(✓)

@✓

>
�✓i

<latexit sha1_base64="C69twnuMzzPf+MFPulLmT9pL8BM="></latexit><latexit sha1_base64="C69twnuMzzPf+MFPulLmT9pL8BM="></latexit><latexit sha1_base64="C69twnuMzzPf+MFPulLmT9pL8BM="></latexit><latexit sha1_base64="C69twnuMzzPf+MFPulLmT9pL8BM="></latexit>

• What do I need for gradient descent optimization? @J(✓)

@✓

>

<latexit sha1_base64="0E8ZAYoisW5uaXIuUwL7gT+ULsc="></latexit><latexit sha1_base64="0E8ZAYoisW5uaXIuUwL7gT+ULsc="></latexit><latexit sha1_base64="0E8ZAYoisW5uaXIuUwL7gT+ULsc="></latexit><latexit sha1_base64="0E8ZAYoisW5uaXIuUwL7gT+ULsc="></latexit>

• Perturb parameters  by        and estimate J(✓ +�✓i)
<latexit sha1_base64="WlMY5aAKrctQZOQ/XcN5C9h9asg="></latexit><latexit sha1_base64="WlMY5aAKrctQZOQ/XcN5C9h9asg="></latexit><latexit sha1_base64="WlMY5aAKrctQZOQ/XcN5C9h9asg="></latexit><latexit sha1_base64="WlMY5aAKrctQZOQ/XcN5C9h9asg="></latexit>

�✓i
<latexit sha1_base64="FBe536VwM1NukY0kLQd2ohteMjk="></latexit><latexit sha1_base64="FBe536VwM1NukY0kLQd2ohteMjk="></latexit><latexit sha1_base64="FBe536VwM1NukY0kLQd2ohteMjk="></latexit><latexit sha1_base64="FBe536VwM1NukY0kLQd2ohteMjk="></latexit>

�✓>i
@J(✓)

@✓
= J(✓)� J(✓ +�✓i)

<latexit sha1_base64="Ac6Srhf3QOmFL7950k0ZzNeZg90="></latexit><latexit sha1_base64="Ac6Srhf3QOmFL7950k0ZzNeZg90="></latexit><latexit sha1_base64="Ac6Srhf3QOmFL7950k0ZzNeZg90="></latexit><latexit sha1_base64="Ac6Srhf3QOmFL7950k0ZzNeZg90="></latexit>2

64
�✓>1
...

�✓>n

3

75

| {z }
matrix A

@J(✓)

@✓
=

2

64
J(✓)� J(✓ +�✓1))

...
J(✓)� J(✓ +�✓n))

3

75

| {z }
vector b

<latexit sha1_base64="DbDxI5U8Q/7RI0EUECYfpzXe3ZM="></latexit><latexit sha1_base64="DbDxI5U8Q/7RI0EUECYfpzXe3ZM="></latexit><latexit sha1_base64="DbDxI5U8Q/7RI0EUECYfpzXe3ZM="></latexit><latexit sha1_base64="DbDxI5U8Q/7RI0EUECYfpzXe3ZM="></latexit>
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2

64
�✓>1
...

�✓>n

3

75

| {z }
matrix A

@J(✓)

@✓
=

2

64
J(✓)� J(✓ +�✓1))

...
J(✓)� J(✓ +�✓n))

3

75

| {z }
vector b

<latexit sha1_base64="DbDxI5U8Q/7RI0EUECYfpzXe3ZM="></latexit><latexit sha1_base64="DbDxI5U8Q/7RI0EUECYfpzXe3ZM="></latexit><latexit sha1_base64="DbDxI5U8Q/7RI0EUECYfpzXe3ZM="></latexit><latexit sha1_base64="DbDxI5U8Q/7RI0EUECYfpzXe3ZM="></latexit>

@J(✓)

@✓
=

2

64
�✓>1
...

�✓>n

3

75

+

·

2

64
J(✓)� J(✓ +�✓1))

...
J(✓)� J(✓ +�✓n))

3

75

<latexit sha1_base64="IBhQfLCEItqjhvU2rZCIXZ4qpTw="></latexit><latexit sha1_base64="IBhQfLCEItqjhvU2rZCIXZ4qpTw="></latexit><latexit sha1_base64="IBhQfLCEItqjhvU2rZCIXZ4qpTw="></latexit><latexit sha1_base64="IBhQfLCEItqjhvU2rZCIXZ4qpTw="></latexit>

Primal task - episodic setting
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1. Randomly initialize 

2. Collect trajectories randomly perturbed policy  

3. Compute gradient            using pseudo-inverse  
 
 
 
 

4. Update parameters 

@J(✓)

@✓

>

<latexit sha1_base64="0E8ZAYoisW5uaXIuUwL7gT+ULsc="></latexit><latexit sha1_base64="0E8ZAYoisW5uaXIuUwL7gT+ULsc="></latexit><latexit sha1_base64="0E8ZAYoisW5uaXIuUwL7gT+ULsc="></latexit><latexit sha1_base64="0E8ZAYoisW5uaXIuUwL7gT+ULsc="></latexit>

✓
<latexit sha1_base64="2KHvOXVectmc/QYC2rWHufjjOA4="></latexit><latexit sha1_base64="2KHvOXVectmc/QYC2rWHufjjOA4="></latexit><latexit sha1_base64="2KHvOXVectmc/QYC2rWHufjjOA4="></latexit><latexit sha1_base64="2KHvOXVectmc/QYC2rWHufjjOA4="></latexit>

⇡✓+�✓i
<latexit sha1_base64="jYVZB/KXha1QDzsKoxp13toFHko="></latexit><latexit sha1_base64="jYVZB/KXha1QDzsKoxp13toFHko="></latexit><latexit sha1_base64="jYVZB/KXha1QDzsKoxp13toFHko="></latexit><latexit sha1_base64="jYVZB/KXha1QDzsKoxp13toFHko="></latexit>

@J(✓)

@✓
=

2

64
�✓>1
...

�✓>n

3

75

+

·

2

64
J(✓)� J(✓ +�✓1))

...
J(✓)� J(✓ +�✓n))

3

75

<latexit sha1_base64="IBhQfLCEItqjhvU2rZCIXZ4qpTw="></latexit><latexit sha1_base64="IBhQfLCEItqjhvU2rZCIXZ4qpTw="></latexit><latexit sha1_base64="IBhQfLCEItqjhvU2rZCIXZ4qpTw="></latexit><latexit sha1_base64="IBhQfLCEItqjhvU2rZCIXZ4qpTw="></latexit>

✓  ✓ + ↵
@J(✓)

@✓
<latexit sha1_base64="CF29BeXOzTRGRhofZUcPjeCGzSo="></latexit><latexit sha1_base64="CF29BeXOzTRGRhofZUcPjeCGzSo="></latexit><latexit sha1_base64="CF29BeXOzTRGRhofZUcPjeCGzSo="></latexit><latexit sha1_base64="CF29BeXOzTRGRhofZUcPjeCGzSo="></latexit>
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REINFORCE: better gradient approximation 
• stochastic policy 

• criterion  
 

• gradient of the criterion  
 
 

• likelihood ratio trick expresses gradient of the prob distr.
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Primal task - discrete control in episodic settings

• collect N trajectories  
 
 
 

• compute gradient  
 

 

• update parameters
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…
• policy (random ini)
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Primal task - continuous control in episodic settings
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L2 loss
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• imitation learning from human demonstration 
• state space: joint positions, velocities, acceler. 
• action space: motor torques 
• gradient minimization in policy parameter space

Peters et al. NOW 2013
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Primal task - REINFORCE alternatives  
[Schulman et al 2016]

• temporal coherence
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Primal task - REINFORCE alternatives  
[Schulman et al 2016]
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Primal task - REINFORCE alternatives  
[Schulman et al 2016]
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• When deciding optimally it is enough to decide which 
of the actions yields higher Q-values. 

• Estimation of exact Q-values is not necessary 
• When Q(x,a1) = 99 and Q(x,a2)=101, it is enough to 

estimate that Q-value of a2 is bigger then Q-value of 
a1. 

• Predicting such values by a deep neural network 
causes that most of the weights will be sacrificed to 
unimportant information that Q-values are around 100. 

• Consequently advantage function is introduced. 

• Generalized Advantage Estimation yields lower 
variance and faster learning

Advantage function

A(x,u) = Q(x,u)� V (x)
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Generalized Advantage function Estimation [ICLR 2016]

A(x,u) = Q(x,u)� V (x)
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advantage estimate  
from state-value function

lambda sets trade-off between variance and bias 

https://arxiv.org/pdf/1506.02438.pdf
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Generalized Advantage function Estimation [ICLR 2016]
https://arxiv.org/pdf/1506.02438.pdf

https://arxiv.org/pdf/1506.02438.pdf
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• No motion model required 
• Converges to local optima (good initialization needed) 
• High-dimensional parameters requires many samples 
• Imitation learning from expert trajectories

Primal task
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• No motion model required 
• Converges to local optima (good initialization needed) 
• High-dimensional parameters => requires many samples 
• Imitation or Inverse RL learning from expert trajectories  

• If motion model is available then trajectory optimization  
[Tassa 2013] Tassa, Synthesis and Stabilization of Complex 
Behaviors through Online Trajectory Optimization, IROS2013  

Summary RL
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Taxonomy of policy search methods

• Direct policy search (primal task) 
⇡⇤ = argmax

⇡
J⇡e.g. gradient ascent for

⇡⇤ = argmax
a

Q(x,a)

e.g. search for Q(x,a) = r(x,a,x0) + �max
a0

Q(x0,a0)

• Value-based methods (dual function [Kober, 2013])

Episodic REPS [Peters, 2010]
PILCO [Deisenroth, ICML 2011]
Actor-critic (e.g. DPG [Silver,JMLR 2014])

Deep Q-learning (e.g. [Mnih,Nature 2015])gr
ey

 z
on

e
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1. Collect trajectories                     , initialize 
2. Estimate 
3. Update parameters by learning 
 

⌧1, ⌧2, ⌧3, . . .
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Approximated Q-learning

DDPG actor-critic method [Lilicrap et al. 2015]
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1. Collect trajectories                     , initialize 
2. Estimate 
3. Update parameters by learning 
 

4. Learn policy         which do actions maximizing the 
state-action value function on the collected trajectories

DDPG actor-critic method [Lilicrap et al. 2015]

⌧1, ⌧2, ⌧3, . . .
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Direct policy optimization on Q
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[Heess 2017] https://arxiv.org/abs/1707.02286
Known successes of RL - locomotion in simulation

https://arxiv.org/abs/1707.02286
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Known successes of RL - Starcraft II
• Starcraft II (Deepmind AlphaStart beaten top-end 

professional human gamers 5:0)

https://medium.com/mlmemoirs/deepminds-ai-alphastar-
showcases-significant-progress-towards-agi-93810c94fbe9
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• AlphaGo/Alpha Zero https://en.wikipedia.org/wiki/AlphaZero 
• SearchTrees has no chance in huge state-action spaces 

• AlphaGo:  
• beat professional Go player 
• 9 dan professional ranking 

• Alpha Zero: Top Chess Engine Championship 2017 
• 9h of self-play, no openingbooks nor endgames tables 
• 1 minute per move, 1GB RAM 
• 28 wins, 72 withdraws 

• DOTA 2 openAI+ bot https://blog.openai.com/dota-2/ 
• AutoML https://cloud.google.com/automl/ 

• [Zoph 2016] REINFORCE learns RCNN policy which  
generates deep CNN architectures.

Known successes of RL

https://en.wikipedia.org/wiki/AlphaZero
https://blog.openai.com/dota-2/
https://cloud.google.com/automl/
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• Application on real robots is still questionable since 
• transfer from simulator suffers from domain bias 
• direct training on robots is impossible due to sample 

inefficiency of state-of-the-art methods.

Known successes of RL
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• guides policy gradient method by optimal trajectories 
• state space: RGB camera images  
• action space: motor torques

Levine et al JMLR 2016

End-to-End Training of Deep Visuomotor Policies
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Figure 2: Visuomotor policy architecture. The network contains three convolutional lay-
ers, followed by a spatial softmax and an expected position layer that converts pixel-wise
features to feature points, which are better suited for spatial computations. The points are
concatenated with the robot configuration, then passed through three fully connected layers
to produce the torques.

architectures rely on large datasets and focus on semantic tasks such as classification, often
intentionally discarding spatial information. Our architecture, illustrated in Figure 2, uses
a fixed transformation from the last convolutional layer to a set of spatial feature points,
which form a concise representation of the visual scene suitable for feedback control. Our
network has 7 layers and around 92,000 parameters, which presents a major challenge for
standard policy search methods (Deisenroth et al., 2013).

pi

pi pi
⇡✓

{⌧ ji }

Figure 3: Diagram of our ap-
proach, including the main guided
policy search phase and initializa-
tion phases.

To reduce the amount of experience needed to train
visuomotor policies, we also introduce a pretraining
scheme that allows us to train e↵ective policies with
a relatively small number of iterations. The pretraining
steps are illustrated in Figure 3. The intuition behind
our pretraining is that, although we ultimately seek to
obtain sensorimotor policies that combine both vision
and control, low-level aspects of vision can be initialized
independently. To that end, we pretrain the convolu-
tional layers of our network by predicting elements of xt

that are not provided in the observation ot, such as the
positions of objects in the scene. We also initially train
the guiding trajectory distributions pi(ut|xt) indepen-
dently of the convolutional network until the trajecto-
ries achieve a basic level of competence at the task, and
then switch to full guided policy search with end-to-end
training of ⇡✓(ut|ot). In our implementation, we also
initialize the first layer filters from the model of Szegedy
et al. (2014), which is trained on ImageNet (Deng et al.,
2009) classification. The initialization and pretraining
scheme is described in Section 5.2.

4. Guided Policy Search with BADMM

Guided policy search transforms policy search into a supervised learning problem, where
the training set is generated by a simple trajectory-centric RL algorithm. This algorithm

7

Levine, Finn, Darrell, and Abbeel

(a) hanger (b) cube (c) hammer (d) bottle

Figure 8: Illustration of the tasks in our visuomotor policy experiments, showing the vari-
ation in the position of the target for the hanger, cube, and bottle tasks, as well as two of
the three grasps for the hammer, which also included variation in position (not shown).

6.4 Deep Visuomotor Policy Evaluation

In this section, we present an evaluation of our full visuomotor policy training algorithm on
a PR2 robot. The aim of this evaluation is to answer the following question: does training
the perception and control systems in a visuomotor policy jointly end-to-end provide better
performance than training each component separately?

Experimental tasks. We trained policies for hanging a coat hanger on a clothes rack,
inserting a block into a shape sorting cube, fitting the claw of a toy hammer under a nail with
various grasps, and screwing on a bottle cap. The cost function for these tasks encourages
low distance between three points on the end-e↵ector and corresponding target points, low
torques, and, for the bottle task, spinning the wrist. The equations for these cost functions
and the details of each task are presented in Appendix B.2. The tasks are illustrated in
Figure 8. Each task involved variation of 10-20 cm in each direction in the position of the
target object (the rack, shape sorting cube, nail, and bottle). In addition, the coat hanger
and hammer tasks were trained with two and three grasps, respectively. The current angle
of the grasp was not provided to the policy, but had to be inferred from observing the
robot’s gripper in the camera images. All tasks used the same policy architecture and
model parameters.

Experimental conditions. We evaluated the visuomotor policies in three conditions: (1)
the training target positions and grasps, (2) new target positions not seen during training
and, for the hammer, new grasps (spatial test), and (3) training positions with visual
distractors (visual test). A selection of these experiments is shown in the supplementary
video.3 For the visual test, the shape sorting cube was placed on a table rather than held in

3. The video can be viewed at http://sites.google.com/site/visuomotorpolicy

22
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Levine et al JMLR 2016



Czech Technical University in Prague
Faculty of Electrical Engineering, Department of Cybernetics

Can we use it in real world problems?

[Hwangbo, ETH Zurich, Science Robotics, 2018]
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Motion and compliance control of flippers

[3] Pecka, Zimmermann, Svoboda, et al.  
      IROS/RAL/TIE(IF=6), 2015-2018
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Boston dynamics - Atlas - NO RL AT ALL
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Boston dynamics - Big dog - NO RL AT ALL
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Summary

• If accurate differentiable motion model and reward functions 
are known, than optimal control in MDP is straightforward  
optimization problem (efficiently tackled by DP or DDP) 

• State-action value function is dual variable wrt policy. It 
serves as auxiliary function in the policy optimization: 
• actor-critic methods 
• heuristic in planning methods (LQR trees)

• Holy grail is to efficiently combine motion 
model, state-action value function with 
efficient planning, learning and exploration. 

• RL will be much more useful for motion 
control, when accurate domain transfer 
methods (from simulators to reality) become 
available.


